St. Aloysius College (Autonomous) Jabalpur
B.Com. | & Il Semester
Business and Vedic Maths
Question Bank

Unit- |
MCQ
Choose the correct option of following
Ratio
1) The ratio between the price of two cows costing 1500 Rs and 1000Rs is ..........
a)3:1 b)3:2
c)3:4 d)4:3 Answer:b
2) If x:y =3:4, then the value of (4x-y):(2x+3y) is =?

a)4:9 b)8:9

c)4:3 d)8:3 Ans.:a
3)The ratio between Im and 1 kmis........

a)1:0.001 b)1:0. 0001

€)1:100 d)1:1000 Ans..d
4)Which one of the ratio is smaller?

a)3:4 b)5:6

c)7:8 d)17:15 Ans.:a

5)Two amounts have the ratio of 4:3. If the first one is worth 28 Rs, find the other one?
a)l2 b)21
c)4 d)3 Ans.:a
6)Two numbers x and y are in the ratio of 5:7 and there sum is 36. Then x is .......
a)l2 b)15

c)18 d)19 Ans.:b
7) Two whole numbers whose sum is 64, can not be in the ratio of ...
a)5:3 b)7:1
c)3:4 d)9:7 Ans .:c

8)Gaining ratio is used .......
a)at the time of admission of a partner
b)atb the time of retirement of partner
¢)in case of both a) and b)
d)neither in case of a) nor in case of b) Ans.:b
9)X, Y and Z share profit and losses in the ratio of %2 ,1/3 and 1/6 respectively. Z retires . the
gaining ratio is .....
a)2:1 b)1:2
c)3:2 d)2:3 Ans.:a
10) Gaurab and Ishan divide profit in the ratio of 4:5. If the profit is 9000 Rs then Gaurav’s
share is
a)5000 b)7000
€)4000 d)2000 Ans..c
11)A and B are partners sharing profit s in the ratio of 4:3. C is admitted as a partner . The
new profit sharing ratio is 3:2:1. The sacrificing ratio is ........



a)3:4 b)2:3
c)4:3 d)3:2 Ans.:a
12)Sacrificing ratio is =?
a) new profit loss ratio — old profit loss ratio
b) old profit loss ratio — new profit loss ratio
c)bothaand b
d)none of the above Ans.:b
13) If aand b are in the ratio of 3:4 and b and c in the ratio of 12:13, then a and ¢ will be in the
ratio of ......

a)3:13 b)13:9
€)36:13 d)9:13 Ans.:d
14)Minor partner is only laible to ......
a) profit b)loss
c)bothaand b d)none of these Ans.;a
15) The ratio between a and b is 3:5 and between b and c is 2:3. Then a:b:c will be......
a)6:10:18 b)6:12:15
€)6:10:15 d)6:12:18 Ans.:.c
16)The sum of two numbers is 40 and there difference is 4. The ratio of two numbers is .....
a)21:19 b)22:9
c)11:9 d)11:18 Ans..c
17)In a class of 75 students 15 have failed . The ratio of passed and failed student is
a)l:4 b)4:1
€)1:5 d)5:1  Ans.:b
18) Dividing 1296Rs between a and b in the ratio of 1/3 :1/5, is share will be
a)760Rs b)456 Rs
C)976Rs d)850 Rs Ans .:a

19)Two natural numbers are in the ratio of 3:5 and the product is 2160. The smaller of the
numbers is......

a)l2 b)18

c)24 d)36 Ans.d
20)IF a:b=2:3 and b:c=5:6,then the value of a:b:c is........

a)10:18:15 b)10:15:18

€)15:10:8 d)18:15:10 Ans.b

21)Sacrificing ratio is used .....
a)at time of the admission of the partner
b)at the time of the retirement of the partner
c)in case of both aand b

d)neither in case of a nor in case of b Ans.a 22) Two amount have
the ratio 8:9. If the first one is 24,the other is .......
a) 27 b)9
c)7 d)63 Ans.a
23)In a class of 42 students, 6 students are girls. The ratio of boys and girls in class is.....
a)7:1 b)7:6
€)6:7 d)6:1 Ans.d
24)The ratio of pass and fail studentsis 9:2. 1F20 students fail, number of pass student is ......
a)180 b)220
€)110 d)90 Ans.d

25)Divide 560Rs between a and b in such a way that there share are in the ratio of 3:5



a)A’s share = 210,B’s share = 350

b)A’s share =400,B’s share= 160
¢)A’s share=230,B’s share= 330
d)None of these

Ans.a
3 ol ITd
1) 1500 3R 1000R T ST aTell & Mt T HAc & oI T 3T ... gl
a)3:1 b)3:2
c)3:4 d)4:3
Answer:b
2) afe x:y =3: 4,ar (4x-y) & AT :( 2X + 3y) =§?
a)4:9 b)8:9
c)4:3 d)8:3
Ans.:a
3)1 & 3R 1 fohel o ol T 3T ... gl
a)1:0.001 b)1:0. 0001
c)1:100 d)1:1000
Ans.:.d
4)leT T a1 BIeT &7
a)3:4 b)5:6
c)7:8 d)17:15
Ans.:a
5)ar TRIAt & JequreT 4: 3 ¥l A ggel Teh i hiAd 28 FUY B, A gEX A Tiel?
a)l2 b)21
c)4 d)3
Ans.:a
6)aT TEATE X 3R y 5: 7 & I A ¥ 3R T 36 ¥ AT x ... B
a)l2 b)15
c)18 d)19
Ans.:b
7)ar qU EEar fSeTht TR 64 §, & Iequra H AL g Fehell ..
a)5:3 b)7:1
c)3:4 d)9:7
Ans .:c

8)HTC 3HeIdT I UM R ST & ...
a)TFH AT & YA & AT
b)uEeR & Reraie & oy
c)alAt & AT #) 3R &)
d)a ar T & A # 3R T & & & AHA H)
Ans.:b
9X, Y 3R Zwaer: 1,1/3 AR 1/6 & 3Heqdrd & ey 3R gy Arem o &1 Z Reray gr arv| ofrer

S



a)2:1 b)1:2
)3:2 d)2:3
Ans.:a
10) 91k 3R germeT oy o 4: 5 & 3rqura A fyenfoid @ &1 I o 9000 % ¥ ar ke &

feear ¥

a)5000 b)7000
€)4000 d)2000
Ans.:c

11)A 3R B 4:3 & 3e[urc # 87 AIS el arel ASEN &1 @ H HAENeR & ®q 7 o7l fopa
ST &1 o141 18T |IST hiel T 3Fqared 3:2: 1 1 TN T IeU & ...

a)3:4 b)2:3
c)4:3 d)3:2

Ans.:a
12)afer & 3equrd = 82
a) new profit loss ratio — old profit loss ratio
b) old profit loss ratio — new profit loss ratio
c)bothaand b
d)none of the above
Ans.:b

13) Iie a3 b 12:13 & 3equrad # 3:4 3R bR ¢ qurd # g, ar a3 c ... & 3qard &
g

a)3:13 b)13:9
€)36:13 d)9:13
Ans.:.d
14yATHeT |l € 3TRERT BT & ...
a) profit b)loss
c)bothaand b d)none of these
Ans.:a
15) A 3R b @ & & 3equraT 3:5 § 3R b 3R ¢ o 7 3qare 2: 3 §1 a a: b: cgem... ..
a)6:10:18 b)6:12:15
€)6:10:15 d)6:12:18
Ans.:.c
16)eT FEAT3iT T FT 40 § AR 3R 4 Bl & HEI3HT 1 U & ...
a)21:19 b)22:9
c)11:9 d)11:18
Ans.:.c
17)75 ©rEt &1 Ueh Fall A 15 3Ah @ g1 36T AR ol S T §
a)l:4 b)4:1
c)1:5 d)5:1
Ans.:b
18) 1/3: 1/5 & 3fe1dTcd # a 3R b & 1296Rs o1 fermsiet, feeam gom
a)760Rs b)456 Rs
€)976Rs d)850 Rs

Ans .:a



19)aT grpfcsh HEATE 3: 5 & IHequrd # § 3R 3cure 2160 &l T3 HT ST & ...

a)l2 b)18
c)24 d)36
Ans.d
20)afg a:b=2:3 3R b:c=5:6 & dr a:b:caH AT ........ gl
a)10:18:15 b)10:15:18
€)15:10:8 d)18:15:10
Ans.b

21)afeleTsT 3eIard & 3UANT fohar SITell § ...
a)ardy & gde & AT
b)arel @I Farfag & FHT
0)T AR & At FT AT
dF dardr s A A MR A S & & AFAS A
Ans.a
22) & TfRrAt 7 31T 8:9 ¥l I ugelr 24 8, qEU ¥ ...
a) 27 b)9
c)7 d)63
24)ar8 3R el STET HT I 9: 2 §1 IF20 ©TF %o, U ST H HEAT ...

a)180 b)220
€)110 d)90
Ans.d
25)560Rs T a 3R b s 3@ e fasnfaia X & AR 3:5 & 3rqard & &
a)A’s share = 210,B’s share = 350
b)A’s share =400,B’s share= 160
¢)A’s share=230,B’s share= 330

d)None of these

Ans.a
PROPORTION

Multiple choice questions
1. What is 4th proportional in 9,13 and 153?
(a)251 (c)175
(b)181 (d)221
[Ans. (d)]
2. The 3rd proportional to 18 and 54 is?
(a)144 (c)162
(b)72 (d)972
[Ans. (c)]
3. If a:b::3:5,b:c::4:3 and c:d::4:5,a:d=?
(a)4:5 (c)64:25
(b)16:25 (d)64:125

[Ans. (¢)]



4. Shruti purchased several number of three articles P,Q and R in the proportion 3:2:3. If
the unit cost of the articles P,Q and R are 200, Rs.90 and Rs.60 respectively, how many articles
of Q must have been purchased in the total purchases of Rs.48007?

(a) 8 (c)12
(b) 10 (d)14
[Ans. (b)]
5. In what ratio should the profit of Rs.8000 be divide if X starts a business with an
investment of Rs.15000 after 3 months from the start of the business.
(a)16:2:3 (c)16:2:9
(b)8:3:6 (d)6:9:1
[Ans. (c)]
6. In what ratio should the profit be divided if M,N,O invests capital in ratio 2:3:5 and
their timing of their investments are in the ratio 4:5:6.
(@) 8:15:30 (c)4:5:6
(b) 5:18:28 (d)2:3:5
[Ans. (a)]
7. What is the fourth proportional to the numbers 2,5,8.
@ 40 (c)15
(b) 20 (d)10
[Ans. (b)]
8. The third proportional to x2-y2 , x-y is?
(@  xty (€) X-yl(x+y)
(b)  xvy (d)1
[Ans. (c)]
9. A,B and C distribute Rs.1000 among them. A and C have Rs.400, B and C Rs.700.How
much does C have?
@ Rs.100 (c) Rs.200
(b) Rs.50 (d) Rs.300
[Ans. (a)]

10. It was intended that Rs.585 be divided among P,Q and R in the ratio of 4:3:2, but by
mistake the distribution was made in the proportion of 1/4:1/3:1/2. How much does ‘R’ gain by
the error?

@ Rs.99 (c) Rs.140
(b) Rs.126 (d) Rs.152
[Ans. (0)]

11. Find A:B:C:D when A:B=2:3; B:C=7:9;C:D=5:7
(a) 70:105:135:189 (c) 70:124:155:201
(b) 105:115:236:189  (d) 12:78:256:189

[Ans. (a)]
12. Find the mean proportional between 7 and 63 ?
(a) 35 (c) 27
(b) 21 (d) 30

[Ans. (b)]
13. 10/13=11/28=21/11=12/11=K. What is K?
(a) 6/7 (c)10/11
(b) 12/13 (d)59/63

[Ans. (a)]

14. A:b=3:7 and B:C=9:5. What is A:B: C ?



(a) 3:15:5 (c) 3:7:5
(b) 21:16:45 (d) 27:63:35
[Ans. (d)]
15. How to divide 3395 in ratio of 42:32:23?
@ 1470,1120 and 805
(b) 1550,1235 and 610
(c) 1245,1150 and 1000
(d) 1764,1022 and 529
[Ans. ()]
16. The product of two positive numbers is 4752 and their ratio is 11:12. The smaller of
these numbers is

@ 72 (c) 66
(b) 60 (d) 75
[Ans. (c)]
17. If x:y=3:4, then (7x+3y):(7x-3y) is equal to
(@) 5:2 (c) 11:3
(b) 4:3 (d) 37:19
[Ans. (€)]
18. If a:b=5:7 and c:d=2a:3b, then ac:bd is
@ 20:38 (c)10:21
(b) 50:147 (d) 50:151
[Ans. (b)]

19. In the proportion 15:66::185:x, the value of x is:
€)) 814 (c) 714
(b) 841 (d) 741

[Ans. (a)]
20. The third proportional 9 and 12 is :
@ 12 (c) 14
(b) 16 (d)24

[Ans. (b)]
21. The first proportional to 2.4 and 7.6 is:
€)) 1.6 (c)1.8
(b) 1.2 (d)3
[Ans. (a)]
22. The mean proportional of 0.32 and 0.02 is :
(@ 0.05 (c) 0.07
(b) 0.06 (d) 0.08
[Ans. (d)]

23. If 36 men complete a work in 25 days then 15 men will complete it (in days) :
(@ 6 (c) 56
(b) 50 (d) 60

[Ans. (d)]
24. The salary of A, B and C are in continued proportion. If the salary of B and C are
respectively Rs.250 and Rs.1250, find the salary of A.
(@ 50 (c) 55
(b) 40 (d) 44

[Ans. (a)]

25. If 3,x,1083 are in the continued ratio, find x :



(@ 47 (c) 44

(b) 57 (d) 34
[Ans. (b)]
Proportion Hindi
S EIGRIGH

Multiple choice questions
26. 9,13 3R 153 & 4 HTeUTicleh &1 8?2

(a)251 (c)175
(b)181 (d)221
[Ans. (d)]
27. 18 3R 54 & AT 3 Uil g2
(a)144 (c)162
(b)72 (d)972
[Ans. (c)]
28. gfg a:b::3:5b:c::4:3 3R c:d:i4:5 a:d=?
(a)4:5 (c)64:25
(b)16:25 (d)64:125
[Ans. (c)]

29.  Hfa 3 Fg 3N AR & & FAR 3:2:3 & Iua A @l I @ P, QIR RHF
SHS AT A 200,F .90 IR T &, A Q F P o@ g« aifiew

(©) 8 (c)12
(d) 10 (d)14
[Ans. (b)]

30. X & FRITX & ¥ gl & 3 AL a1e & 1,5000 & AT & FY Tk IaaqT X FA
W Rs.8000 T @meT foh 3qard & fenfeia foham S =mfge|

(2)16:2:3 (c)16:2:9
(b)8:3:6 (d)6:9:1
[Ans. (c)]

31. Mg M, N, O 3qard 2:3:5 o 3uid & dieT I-1 § 3R 3o e o1 d677 4:5: 6
& T H g, fhE igard & oey w1 fenfaia fRar S anfewl

(c) 8:15:30 (c)4:5:6
(d)  5:18:28 (d)2:3:5
[Ans. (a)]

32. 2,58 & W& & fav =iyr edrics F4T Bl
() 40 (c)15
(d 20 (d)10

[Ans. (b)]
33, X2-y2, x-y & dE e &2
() xty (€) x-yl(x+y)
d xy (d)1

[Ans. (€)]



34. A, B 3R C3a% s 1000 ¥ faaRa axad &1 A 3R C & 9 Rs.400, B3R C & o

Rs.700| C & 9/ fohder 872

(©) Rs.100 (c) Rs.200
(d) Rs.50 (d) Rs.300
[Ans. ()]
35. g Frar U7 fh &) 585 @I 4:3:2 & Ui # P, Q3R R& ra fasiaid fehar S,

Afehet et & faeRoT 1/4: 1/3: 1/2 & 3eqiad & g1 9411 & @ much R '&1 fahcel Braer giar g2

(c) Rs.99 (c) Rs.140
(d) Rs.126 (d) Rs.152
[Ans. (c)]
36. el A:B:C:DJs A:B=2:3;&: dr=7:9;&: & =5:7
(c) 70:105:135:189 (c) 70:124:155:201
(d)  105:115:236:189  (d) 12:78:256:189

[Ans. (3)]

37. 73?\?633?@?!3%341@@@%3{#%@%@?
) 35 (c) 27
(d 21 (d) 30

[Ans. (b)]
38. 10/13 =11/28 = 21/11 = 12/11 = %R K Fa1 2
(c) 6/7 (c)10/11
(d) 12/13 (d)59/63

[Ans. ()]
39. T & =3 3R E @ = 9 ArB:CFar g2
(c) 3:15:5 (c) 3:7:5
(d) 21:16:45 (d) 27:63:35

[Ans. (d)]

40. 42:32:23 & LI #H 3395 1 H fFHTiad HL?

()  1470,1120 and 805
(/)  1550,1235 and 610
(9) 12451150 and 1000
(h)  1764,1022 and 529

[Ans. (a)]
41, & UeAcHS WCAIHT HT AUEARS 4752 § 3R IeTehr 3T 11:12 Bl o @ o H@EeAm §
(c 72 (c) 66
(d) 60 (d) 75

[Ans. (c)]
42. IR x:y=3:4,a (7x+3y) :( 7x-3y) WX &
(©) 5:2 (c) 11:3
(d 43 (d) 37:19
[Ans. (€)]

43. gfe a: b=5:7 3R c:d =2a: 3b, dr ac: bdg
(c)  20:38 (c)10:21
(d)  50:147 (d) 50:151

[Ans. (b)]



44, 15: 66 :: 185: X & MUl #, X T AT &

(c) 814 (c) 714
(d 841 (d) 741
[Ans. (a)]

45. AT 3T 9 3 12 &

(c) 12 (c)14

(d 16 (d) 24

[Ans. (b)]

46.  0.32 3R 0.02 Fr 3ad TIRE

() 005 (c) 0.07

(d 006 (d) 0.08
[Ans. (d)]

47.  af& 36 gRY 25 el F weh FE QAT & A 15 G290 QR (AT A):

(c) 6 (c) 56

(d)  50(d) 60
[Ans. (d)]
48.  Ab 3R c& dae AT 3eqarad # g1 afe B 3R C & ader wAw: &1 250 3R %1 250 g,

ar AT ada A1 fifST]

() 50 (c) 55
(d) 40 (d) 44
[Ans. ()]
49, HﬁB,x,lOSBﬁWWﬁ%ﬂTx@ﬁ:
(©) 47 (c) 44
(d) 57 (d) 34
[Ans. (b)]
PERCENTAGE

Multiple Choice Type Questions-
1. ‘4/5 of price’ mean:
(a)20% (b)40%
(c)60% (d)80%

[Ans:(d)]
2. The value of 12 2% of Rs.500 is:
(a)Rs.60 (b)Rs.52
(c)Rs.62 (d)Rs.62.50

[Ans:(d)]
3. The population of a place increased from 7,680 to 8,064. The percentage increase is:
(2)4.76% (b)5%
(€)7.5% (d)10%

[Ans:(B)]
4. What will be the 12% of Rs.1000?
(a)Rs.100 (b)Rs.120
(c)Rs.150 (d)None of these

[Ans:(b)]

5. If percentage of saving on income is 25, then percentage of saving on expense is:

(2)15% (b)25%



()66 2/3% (d)33 1/3%

[Ans:(d)]
6. The number whose 12 2% is 175 Y2, will be:
(a)1,404 (b)1,440
(c)1,044 (d)404

[Ans:(a)]
7. 8 1/3% expressed in fraction is:
(a)25/3 (b)3/25
(c)1/12 (d)1/4

[Ans:(C)]
8. ‘Half of 1% written as a decimal will be:
(2)0.005 (b)0.05
(c)0.02 (d)0.2

[Ans:(a)]
9. What percent of 1 kilogram is 5 gram?
(@)0.5 (b)5
(c)0.005 (d)5.5

[Ans:(a)]

10.What percent of a day is 3 hours?
(a)12.5 (b)22.5
(c)12 (d)12.25

[Ans:(a)] 11.Adding 33 %% of number in that
number gives
200. 66 2/3% of that number is:

(2)100 (b)150
(c)200 (d)300
[Ans:(a)]
12. A’s income is 20% more than B’s income. How much less in B’s income than A’s income?
(2)20% (b)83%
(c) 16 2/3% (d) 80%
[Ans:(c)]
13. There are two candidates in an election. The candidate who gots 60%
votes, won the election by 5,250 votes. The votes received by the defeated candidate are:
(a) 10,500 (b) 15,000
(c) 10,050 (d) 3,421
[Ans:(a)]

14. 5 liter of 100% acid is added to 5 liter of 20% acid mixture. The quantity of acid in mixture
is:

(a) 50% (b) 52.2%
(c) 57.5% (d) 60%
[Ans:(d)]

15. The consumption of sugar increased from Rs.112 to Rs.140. The percentage increase in
consumption of sugar is:

(a) 25% (b) 28%
(c) 20% (d) None of these
[Ans:(a)]

16.The number whose 20%o is 1/8, is:
(a)0.625 (b)0.652



(c)6.25 (d)62.5

[Ans.(c)]
17.The value of 12 %% of 400:
(2)48 (b)50
(c)70 (d)35

[Ans.(b)]

18.At an election, where are two candidates only, a candidates who get 43% of votes is rejected
by a majority of 420 votes. Then total number of votes recorded assuming that there was no
void vote are:

(a)2700 (b)2800
(c) 3200 (d)none of these
[Ans.(d)]
19. Evaluate 28% of 450+45% of 280:
(a) 232 (b) 242
(c) 252 (d) 262
[Ans. (c)]
20. The ratio 5:20 expressed as percent equals to:
(a) 50% (b) 125%
(c) 25% (d) none of these
[Ans. (€)]
21. 2.09 can be expressed in terms of percentage as (a) 2.09% (b)
20.9%
(c) 209% (d) 0.029%
[Ans. (©)]
22. What percent is 24 meter of 64 km is:
(a) 0.756 (b) 0.0357
(c) 0.575 (d) 0.0375
[Ans. (d)]

23. The consumption of milk was Rs. 120. It was increased to Rs. 150. What is the percentage
increase in consumption?

(a) 35% (b) 25%
(c) 59% (d) 55%
[Ans. (b)]
24. What percent 29 cubic centimeter is of one litre:
(@) 2.0% (b) 4.9%
(c) 2.9% (d) 3.2%
[Ans. (c)]

25. In an examination 80% of candidates passed in English and 85% candidates passed in
Mathematics. If 73% candidates passed in both of these subjects, then what per cent of
candidates failed in both the subjects?

(@8 (b) 15
(c) 27 (d) 35
[Ans:(a)]

gfaerd

CRICET I PEaTe R



1. 1. 4/5 FeawrATS:
(T) 1% (&) 8%

(c) 60% (d) 80%
[3e: (3]
2.500 e 12 of% Hrede:
(a) Rs.60 (b) Rs.52
(c) Rs.62 (d) Rs.62.50
[ (@)]

3. UehoTagehI3TaTar 7,680 Aagant 8,064 grats|gfaerdgeee:
(@) 8. )e% (s 9%
(c) 7.5% (d) 10%

[ ()]

4. 1000 T9AHT 12% FITEIM?
(T) Rs.100 (b) Rs.120
(c) Rs.150 (d) sA#aISTar

[37X (@]
5. I RETasmiad 25 §, deaaReadamiaLide:
(@) 9% (&) V%
(c) 66 2/3% (d) 33 1/3%

[3a% (a)]

6. foghraEar 12 is% 175 ¥ giaft, aggieh:
(a) 1,404 (b) 1,440
(c) 1,044 (d) 404

7.8 1/3% 3erHFcTFdihaTeTg:
(a) 25/3 (b) 3/25
(c)1/12 (d) 1/4
[3a%: ()]
8. AT usheHATahEIA for@eTar 1%:
(a) 0.005 (b) 0.05
(c)0.02 (d)0.2
[BaT: ()]
9.1 ITASIIAAT 5 IMHAFATS?
() 0.5 (b) 5
(c) 0.005 (d) 5.5
[BaT: ()]
10. ThieaTearr 3 gfaerdearg?
(@) 12.5 (b) 22.5
(c) 12 (d) 12.25



[3a%: (T)] ¢%. 33% TEABTTEIHCATE
saaearr 200. 66 2/3% g
(a) 100 (b) 150
(c) 200 (d) 300
[3X ()]
12. SRITIRIIAAHIT 20% 3HfAhe| A RIEA B RIATRIARHE?
(@ 0% (&) %3%
(c) 16 2/3% (d) 80%
[3a% ()]

13. Uclogﬂqa-iqlsa—a'iqquslds"l 60% dleUiarel3FAGaRa 5,250
AreAgATaSdl | RIS FHIgaReaRICd e
(a) 10,500 (b) 15,000
(c) 10,050 (d) 3,421
[37%: ()]
14. 5% 100% tfAs 5 oeX 20% TlAsfAyvEaASIsedR (Ao werhATTR:
(T) 99% (&) 9.3%
(c) 57.5% (d) 60%
[3e: (@]
15. fiefiehigad 12 T98a6HT Rs.140 gHrs e raddaviaeraderes:
() 8% (&) %%

(c) 20% (d) FeTHARISAET

[3a% ()]
16. agaEaTiaasr 20% 1/8 &:
(a) 0.625 (b) 0.652
(c) 6.25 (d) 62.5

[3aT:1 ()]
17. 400 & 12 %% $1HT:
(a) 48 (b) 50
(c) 70 (d) 35

[3aT1 (@)
18. UhTATdh AT, STglehdeleI3FHIcdRelde, 43% dleddre3FHear 420
HWMIWWWQW:
(a) 2700 (b) 2800
(c) 3200 (d) FeTHARISEr

[F:1 ()]

19. 280 ¥ 450 + 45% & 28% FHEAHATY:
(a) 232 (b) 242
(c) 252 (d) 262
[3eR1 ()]



20. 9T 5:20 H3TATARETHAFARITITT:
(T) 90% (&) 2%

(c) 25% (d) s=TataehISTEr

[3R1 (&)
21. 2.09 fardhEIHcTFdfRaTTTSRdTE (T) 2.09% () 20.9
(c) 209% (d) 0.029%

[3R1 (@]
22. 64 frelh 24 Hrexfraavfasrag:
(a) 0.756 (b) 0.0357
(c) 0.575 (d) 0.0375

3T (@]

23. guehrgac®|  120. 38«EhE | 150, GaaAYTaRIqde R ?
(T) 3% (&) V%
(c) 59% (d) 55%

R (@)
24. 29 gfardadAe fhdagiaRrduaalets:
(@) 2.0% () 4.9%
(c) 2.9% (d) 3.2%

[3eR1 (4]

25. TRTRETH 80% SFEAREISIANR 85% S GaNaOIRsHgT I aReRHiaTE 73%
3T3-?I?ﬂ3‘cﬁﬁ‘|§tf, d|q|a1iTEG|quTEhda1Hl’?i?ld:sckﬂ"qulw«gu?

() 8 (b) 15
() 27 (d) 35

[T ()]

COMMISSION AND BROKERAGE

Multiple Choice Type Questions
1. An agent is entitled to a commission of 2,750 @5%%o on turnover. Find the turnover:

(a) 1,000 (b) 10,000
(c) 5,000 (d) 50,000
[Ans. (d)]

2. An agent sold goods worth 3,640 on which he is given 2 %% commission. The amount of his
commission is :

(a) 19 (b) 91
(c) 16 (d)61
[Ans. (b)]

3. An agent sold goods worth 7,280 on which he is given @5% commission. The amount of his
commission is :

(a) 728 (b) 346

(c) 364 (d) 264
[Ans. (c)]



4. For the commission of 4,500 at 4%, the amount of sales is :

(a) 150 (b) 180
(c) 200 (d) None of these
[Ans. (b)]

5. An agent charges 5% commission plus 1% del-credere commission. If he sells for 1,240, his
total earning is :

(a) 62 (b) 74.40
(c) 85.20 (d) 49.69
[Ans. (b)]

6. An agent received 600 as commission on the sale of certain property. If he charged 2%:%
commission , the amount for which the property is sold , is :

(a) 12,000 (b) 48,000
(c) 15,000 (d) 24,000
[Ans. (d)]

7. Mamta Bhaswar received 1,000 as commission on sale of certain property. If the rate of
commission is 2%2% , the selling price will be :

(a) 10,000 (b) 40,000
(c) 25,000 (d) 1,00,000
[Ans. (b)]
8. Commission on sale of 8,000 @ 8% general commission and 1% del-credere commission is :
(a) 1,680 (b) 640
(c) 1,040 (d) 16,000
[Ans. (a)]

9. If a broker gets 120 as brokerage on a transaction of 4,000 , then rate of brokerage is :
(@) 3% (b) 2%

(c) 1.2% (d) 4%

[Ans. ()]

10. Brokerage on 8,000 @ 3.5% is :
(a) 280 (b) 208
(c) 118 (d) 108

[Ans. ()]

11. Principal got 202 on the sale of suitcase in 240. The rate of commission is :
(a) 15 5/6% (b) 15 5/8%

(c) 18 41/50% (d) 18 5/6%

[Ans. ()]

12. For the commission of 1000 at 10% the amount :
(a) 9,000 (b) 10,000
(c) 11,000 (d) 10,500

[Ans. (b)]

13. An agent gets a commission of 10% on the sale price of a good. Find the amount of his
commission if the sales amount to 5,000 :

(a) 100 (b) 500
(c) 10,000 (d) 50,000
[Ans. (b)]

14. A scooter was sold for 8,000 through an agent. The agent charge his commission @ 1% from
purchaser and 1%2% from the seller. The amount of his total commission is :

(a) 120 (b) 220

(c) 200 (d) 400



[Ans. (c)]
15. An agent is allowed 5% general commission and 2% del-credere commission. His cash and
credit sales were 1,000 and 2,000 respectively. How much commission will he get?

(a) 90 (b) 140
(c) 150 (d) 190
[Ans. (d)]

16. How many pens an agent need to sell at 8.55 each to earn a commission worth 85.50 at the
rate of commission 5% ?

(a) 200 (b) 300
(c) 400 (d) 500
[Ans. (a)]

17. An agent received 600 as commission on the sale of a certain property. If the amount for
which the commission was obtained was 24,000 , then the rate percent of commission is :

(a) 2/5% (b) 5/2%
(c) 2% (d) 5%
[Ans. (b)]

18. A person sold a house for 36,000 through a broker and gave 216 as brokerage. The rate
percent of brokerage is :

(a) 5/3% (b) 3/6%
(c) 5/6% (d) 3/5%
[Ans. (d)]

19. If a client buys shares worth 1,00,000 and sells shares worth 1,00,000 through a stock broker
, then the maximum brokerage payable is :

(a) 4,000 (b) 5,000
(c) 2,000 (d) 6,000
[Ans. (b)]

20. A property agents gets a commission of 3% by selling an apartment for 2,50,000. The
commission received by agent is :

(a) 7,350 (b) 7,300
(c) 7,500 (d) 8,200
[Ans. (€)]

21. A person sold some part of his land for 1,500,000 through a broker charged 5%2% brokerage
, in relation to the sale. Then the amount received by the seller is :

(a) 8,250 (b) 1,14,750
(c) 7,250 (d) 1,15,750
[Ans. (b)]

22. A person sells a house for 35,000 in all through a broker by giving 2% brokerage , find the
amount received by the house seller .

(a) 714 (b) 34,986
(c) 741 (d) 34,968
[Ans. (b)]

23. A person or an institution that helps in selling the goods on credit and take responsibility to
collect this amount is called :
(a) Del-credere Agent  (b) Sale-purchase agent
(c) Insurance Agent (d) Commission Agent
[Ans. ()]
24. The formula i.e. rate of commission*amount of sales/100 states :
(a) Amount of commission (b)Amount of sales



(c)Amount of del-credere commission (d)None of these [Ans.a]

25. The formula i.e. amount of commission *100/rate of commission states :
(a)Amount of commission

(b) Amount of sales

(c)Amount of del-credere commission

(d)None of these

[Ans.b]

HIAAT TG ATl

Multiple Choice Type Questions
1. T Tole Tol3iiaR W 2,750 @ 5 0n% & HHIAA & gheR &l PRIER Thot:

(a) 1,000 (b) 10,000
(c) 5,000 (d) 50,000
[Ans. (d)]
2.U% Tsic o 3,640 &7 IHET 99T, foF o 38 21% FET ar =am 309 waRe fr afr &
(@) 19 (b) 91
(c)16 (d) 61
[Ans. (b)]
3.U& Tsic o 7,280 T AT =T, g W 38 5% FHAeT f&ar Jrar &1 3% e $r iy §:
(a) 728 (b)346
(c) 364 (d) 264
[Ans. (€)]
4. 4% X 4,500 & FAR & forw, foshr $r iy §:
(a) 150 (b) 180
(c) 200 (d) None of these
[Ans. (b)]

5. Tsh Usic 5% H#ARET AR 1% So-shfSe FHleR oar &1 I a8 1,240 # S=am 8, dr 3HAT el
FATS §:

(a) 62 (b) 74.40
(c) 85.20 (d) 49.69
[Ans. (b)]

6. T Toic &I fARYd Fuftr &1 fshr oX hafieieT & & 7 600 9red gVl G 38 2 property%
FAeE o, ar ag Ufr s v gufy o= o &, 9 &

(a) 12,000 (b) 48,000
(c) 15,000 (d) 24,000
[Ans. (d)]

7. ®AAT Bhaswar & @Ufd 1 fdshl oY hefleed & &9 & 1000 1 T foham| 3T 1 &3
2% g, o Tk Hoa g
(a) 10,000 (b) 40,000
(c) 25,000 (d) 1,00,000
[Ans. (b)]
8.311eT

(a) 1,680 (b) 640



(c) 1,040 (d) 16,000

[Ans. ()]

9. gfe fopdY sepT 1 4,000 F deied W siasl & &9 & 120 Aerdr &, a siesy &1 & &
(a) 3% (b) 2%

(©)1.2% (d)4%

[Ans. (a)]

10.8,000 @ 3.5% TR ST g

(2)280 ()208

(c)118 (d)108

[Ans. (a)]

11.240 # Feohq H1 foshr 9 TATT & 202. e $r T &

()15 5/6% (b)15 5/8%
(c)18 41/50% (d)18 5/6%

[Ans. ()]

12. 1000 & s#meET & faw 10% fr:

(2)9,000 (0)10,000

(c)11,000 (d)10,500

[Ans. (b)]

13. U Usic &I U 3= $I A Joa W 10% 1 FHRe fAadr g1 38d weters 6 afRr &

gl o@mT, 3R fashr v afr 5,000:

(a) 100 (b) 500

(c)10,000 (d) 50,000

[Ans. (b)]

14. T& Toic & ARV FHed H 8,000 H 99T I™T AT| Toie I FAered @ 1% el & 3 1

from% Tashl @ a¥feral &1 3eTeh Fel a1l TR &

(2)120 (b)220

(c)200 (d)400

[Ans. (€)]

15. & Tolc #T 5% WA FAee AR 2% Sa-shfse FeeT H IegaAfa &1 3a3h Fedr 3R

shisc foshr swaer: 1,000 3R 2,000 Y| 38 fhder Heea Aeem?

(2)90 (b)140

(c)150 (d)190

[Ans. (d)]

16. AT HT 5% HT &I ¥ 85.50 & FHARA & [olT Ycdeh Tsic HI 8.55 G fohcdsl UsT ddat Fr

AT 72

(2)200 (b)300

(c)400 (d)500

[Ans. (a)]

17. @& Tele 1 U fARTT daf Y At o dalere & &9 # 600 9ied gUI ARG FAIRIEA Jred
T & forw Tfr 24,000 o, ar 3mAeT T X gfAUd &

(a) 2/5% (b)5/2%

(€)2% (d)5%

[Ans. (b)]




18. U IfaFd o Tk goltel & ATEIH T 36,000 F T X =1 3R 216 & gollell & &9 A T

Gorell a1 gfaerd gfaerd g

(2)5/3% (b)3/6%

(c)5/6% (d)3/5%

[Ans. (d)]

19. 3¢ 1 ImEs 1,00,000 AT F MR TlGaT § AR Thh s & Aregdm F 1,00,000 AR

9T g, @ 3fUHaA ST T &

()4,000 (b)5,000

(c)2,000 (d)6,000

[Ans. (b)]

20.t% F9RT Teiel & 2,50,000 & fow T UEHAT ST 3% T HARM FHoldl g1 Tolc gaRT
9T AR &

(2)7,350 (b)7,300

(c)7,500 (d) 8,200

[Ans. (c)]

21. U =T & I9el ST & $o REQ H foshr & G 7 5 broker% st e dlel gelle

& ATeIA & 1,500,000 # 57 fgzm| R fashdr ganT grea 1y &

(3)8,250 (b)1,14,750

(€)7,250 (d)1,15,750

[Ans. (b)]

22. U Afad 2% SHST Sh Uah ool & ATegH O @3y & faw 35,000 F v &) S9aT §, o0

fashdr garT gred TR & gar |

(a) 714 (b) 34,986
(c) 741 (d) 34,968
[Ans. (b)]

23.U IfFd IT Th TEAT ST Hfse W AHA S H A al ¢ 3R 37 TR A ghcar
Fr fFAeY o &

(Q)3e-Ffe wie  (b)RP-ade Teie

(o) weic  (d)gerrer

[Ans. (a)]

24. g AT FAAT H & « f¥hr / 100 v Fr vl

(a) FTeT @ AR (b)REr @ R

(C)3T-h3TR FalrerT & TR (d)s=7 T HIS 7T [Ans.a]
25. FF T FART Y AR « AR Tt A e/ 100:
(a)s#TereT v fer (b) forshr &hr wfar

(C)ZT-HTeAXT et &1 TR (d)gast & 1S A& [Ans.b]

DISCOUNT
Multiple type of question
1. Discount @ 10%+10%0 on an article sold for Rs.100 is :

@ Rs. 10 (b) Rs. 15



(b)  Rs.19 (d) Rs. 20

[Ans. (€)]
2. Cash discount given on:
(a) List price (b) selling price
(b) cost price (d)None of these
[Ans. (b)]
3. The printed value of an electric fan is Rs. 500. It is sold at 10% discount. But due to
change of season the shopkeeper declares 10% additional discount. The sale price of the fan is:
€)) Rs. 455 (b) Rs. 405
(b) Rs. 450 (d) Rs. 400
[Ans. (b)]
4. A suitcase of Rs. 240 is sold for Rs.202. The rate of discount is:
€)] 15 5/6% (b) 15 5/8%
(b) 18 41/50% (d) 185/6%
[Ans. (b)]
5. By a selling item of Rs. 550 is Rs. 500, the rate of discount is :
(@) 11% (b)10%
(@) 9 1/11% (d) 11 1/9%
[Ans. (¢)]

6. The cost price of a sofa set is Rs. 15,750. The sales tax is charged at 12%. If the shopkeeper
allows a discount of 10%, the amount paid for the sofa set is:

(@  Rs.15,700 (b) Rs. 15,876
(b)  Rs.14,273 (d) Rs.19,845
[Ans. (b)]

7. A radio dealer sold a radio for Rs. 490 the selling price of which was Rs.560. The rate of trade
discount is:

(@) 3 1/9% (b) 7 1/19%
(b) 11 1/9% (d)9 1/11%
[Ans. (c)]

8. A man purchased a cow for Rs.3000 and sold it the same day for Rs.3600, allowing the buyer
a credit of 2 years. If the rate of interest be 10% p.a., then the man has a gain of:

(a) 0% (b) 5%
(c) 7.5% (d) 10%
[Ans. ()]
9. The true discount on Rs.2562 due 4 months hence is Rs.122. The rate percent is:
(@) 12% (b) 13%
(c) 15% (d) 14%
[Ans. (0)]

10. Sonali could not decide between discount of 30% or two successive discounts of 25% and
5%, both given on shopping of Rs. 2000. What is the difference between both the discounts?

(a) Rs.15 (b) Rs.25
(c) Rs.100 (d) There is no difference
[Ans. (b)]

11. There is a 10% discount on a dozen pairs of trousers market at Rs.8000. How many pair of
trousers can be bought with Rs.24007?
@7 (b) 2
(c)4 (d)8
[Ans. (0)]



12. If a shopkeeper gives 20% discount and then 10% discount on a pen, which has the market
price of Rs.500, how much would be selling price of the pen?

(a) Rs.350 (b) Rs.150
(c) Rs.320 (d) Rs.360
[Ans. (d)]

13. Simran gets a discount of 25% on Rs.3600 oven. Since she pays cash, she gets additional 2%
discount too. How much does she pay?

(a) Rs.2864 (b) Rs.2468
(c) Rs.2548 (d) Rs.2646
[Ans. (d)]

14. A vase has a market price of Rs. 560. Simran pays Rs.336 for it because she got two
successive discounts, one of 20% and other of:

(a) 20% (b) 15%
(c) 25% (d) 10%
[Ans. ()]
15. Successive discounts of 20% and 15% are equivalent to a single discount of:
(a) 68% (b) 65%
(c) 35% (d) 32%
[Ans. (d)]

16. Raj decides to sell his watch at 5% discount. But his brother buys it from him and gives his
brother 8% discount. Due to this Raj gets Rs. 45 less in profit. What was the marked price of
the watch?

(a) Rs. 1500 (b) Rs. 1800
(c) Rs. 6000 (d) Rs. 9000
[Ans. (a)]

17. Raj got a new chair for 35% discount. Had Raj got no discount, Raj would have had to pay
Rs. 224 more. How much did Raj pay for the chair?

(a) Rs. 46 (c) Rs. 640
(c) Rs. 208 (d) Rs. 224
[Ans. (a)]
18. If successive discounts are 15% and 10% then, what is its single equivalent discount?
(a) 12.5% (b) 24.5%
(c) 23.5% (d) 20%
[Ans. (©)]

19. There was 25% off on handbags. Madhu bought a handbag. She also got a 10% discount for
paying cash. She paid Rs. 405. What as the price tag on the handbag?

(a) Rs. 575 (b) Rs. 625
(c) Rs. 450 (d) Rs. 600
[Ans. (d)]

20. Chandrika raised the price of their products by 40%. How much discount should they give
so as to sell the products on no profit no loss basis?

(a) 40% (b) 28.5%
(c) 22.5% (d) 32.75%
[Ans. (b)]

21. Blackberry announced a discount of 25% on their trousers. Vivek went to shop. He want to
save Rs. 400 in discount. How many trousers should he buy to do so, if trousers cost Rs. 320?
@5 (b) 4

(c) 10 (d) 50



[Ans. ()]
22. Gurpreet went to a shop and bought a sofa. She got a 20% discount on it. Had she gotten
25% discount she would have send Rs. 1000 more. How much did she pay for the sofa?

(@) Rs. 5,000 (b) Rs. 10,000
(c) Rs. 20,000 (d) Rs. 25,000
[Ans. (C)]

23. George gets a discount of 30% and then 20% on his food bill of Rs. 1250. What is the total
discount he got?

(a) 44% (b) 55%
(c) 52% (d) 25%
[Ans. (a)]

24. How much does the sarees sales revenue of Uday increase, if Uday announces 25% discount
on sarees and the saree sales volume increase by 40%7?

(a) 15% increase (b) 5%increase
(c) -5%o increase (d) There is no increase
[Ans. (b)]
25. After deducting a commission of 5%, a TV set costs Rs. 9595. Its marked price is:
(a) Rs. 10000 (b) Rs. 10074.75
(c) Rs. 10100 (d) Rs. 12000

el / deer
Multiple type of question

1.100 ¥4 # 9ol aTel ol W g @ 10% + 10% &:

A)F3| 10 C) %l 15

C) %9l 19 D)%l 20

[Ans. (€)]

2.7 e W feam arm:

A) I gea B) R qou

C) mTd Aed D) 3o1H ¥ S Agr

[Ans. (B)]

3. faegd 4 & Alid qeg ¥ 500. 38 10% H F W I Sl g1 Afehel Wofel deolel & HROT
geTeR 10% HTARed P HT SN0 Hiar g1 TRiFs 1 6l 7o 8

A) Rs.455  (b) Rs. 405
B) Rs.450  (d) Rs. 400

[Ans. (b)]

4.240 T4 FT UH Hehd| 202 TOF FH 9= ST g1 FE H T &
A) 155/6% (b) 15 5/8%

C) 18 41/50% (d) 185/6%

[Ans. (b)]

5. %93 &I f9ehT 3MgeH gant| 550 %1 500, g T X &

() 11% (b)10%

C) 9 1/11% (d) 11 1/9%



[Ans. (c)]
6. Toh HBT A dH ANTT Hed &1 15,7501 foshr T 12% o forar Sirem g1 Ife gheier 10% &

9 &1 &, aAl AT A & AT STl dr S TR B

A) Rs.15,700 (b) Rs. 15,876

C) Rs.14,273 (d) Rs.19,84

[Ans. (b)]

7. Teh ISAT StelX & Teh ISAT &l 9T # F=1| 490 &1 [ashd Hed $ .60 ATl NN g & &I &
A) 3 1/9% (b) 7 1/9%

C) 11 1/9% (d)9 1/11%

[Ans. (c)]

8. T 3T & 300 TUF H TH My T 3R 38 fea7 37 600 39 & a9 &, Tad @ierR
T 2 FTS F shise el I=T| AfG ST Fr e 10% p.a. g, ar JCHT FI ST oTe THelam:

(a) 0% (b) 5%

(c) 7.5% (d) 10%

[Ans. (a)]

9.4 A & foIT Rs.2562 W 3Hell e ST Rs.122 g1 X gfaerd &:
(a) 12% (b) 13%

(c) 15% (d) 14%

[Ans. (c)]

10. Gi=ATell 30% T T A1 25% IHR 5% Hr ar RAFAT Feb & dra HaaTr 8 ST Fehl, aleAl
Tl # @ierr W G a=ml 2000. @ $er & 99 FA AW g7

(a) Rs.15 (b) Rs.25
(c) Rs.100 (d) There is no difference
[Ans. (b)]

11. T Eolel SIS o[l STSR WX &1 8000 3 10% T e &1 Rs.2400 & &Y fohcs SIS defelst
e o g &7

@7 (b)2
()4 (d)8
311 (C)]

12. gfg #1 gHEER YT W 20% # ge AR T 10% # ge & ¢, gt 9k 7ed 500
U g, ol 9T 1 BT Hod fohctar gram?

(a) Rs.350 (b) Rs.150
(c) Rs.320 (d) Rs.360
[Ans. (d)]

13. f&#te #1 Rs.3600 3iaat WX 25% &I ge Ao ¥ I a5 e $arciel el 8, sHfaT 38

HARFT 2% H Fe off el &1 95 fohaar sporar e &7
(a) Rs.2864 (b) Rs.2468

(c) Rs.2548 (d) Rs.2646

[Ans. (d)]

14. T olelel HT SR Hed 399 g1 560. FeReT o saah foiw 1 363 1 sprame fohar it 38
AR & g AT, 20% & & & 3R 3=



(a) 20% (b) 15%

(c) 25% (d) 10

[Ans. (c)]

15. 20% 3R 15% #T HiA® e Teh Thel P & SN g
(a) 68% (b) 65%

(c) 35% (d) 32%

[Ans. (d)]

16. TS & 39l T3 T 5% B W a9 & haer A1l dAfhad 3@ o1 3897 @lear ¢ 3R
I TS AT 8% I T AT &1 FHb HNOT Ul N Tl o H 45 FA| 63 &1 RTAd Hod Fa
qr?

(v) 1 1500 () ¥ 1800

(c) F1 6000 (21) ¥ 9000

[3R1 (9]

17. T @1 35% B & AT v &S FHAl A IR AT 1 A1 Fe AT [Forelr, dr Tl & 30
ol Usd| 224 HfOH| TSt A AT & AT e sgorerr fomar?

(T) &1 46 (@) Tl 640

(c) &1 208 (3N | 224

[3R1 ()]

18. T wiA® B 15% 3R 10% &, AT ST Tehel HHAPET P& T 572

(V) 12.5% (&) 24.5%

(c) 23.5% (d) 20%

[3R1 ()]

19. €399 W 25% &I e AN AY A TH 5T TAET| 3H Aohe Il el T 10% Fr ge o
e 38 T 405. §5891 W HAd & &9 H 241 §?

(A) %I 575 (B) ¥ 625

(c) ¥ 450 (D) &I 600

[3R1 (d)]

20. =fehT & 9= 3cutel T HHAT 40% Fer &l HIS oI1eT g1 gl & HUR W 3cqrar & gDUA
& fov 37¢ frae ge & afeu?

(a) 40% (b) 28.5%
(€)225%  (d)32.75%
[321 (B) ]

21. s & I I W 25% T e & Ao | e e Fe T A1 9% T
ST A6 &1 400 H Pl VT e & fAT 38 e ude @lea wfev, 3R gdes H A
%l 3207

(@) 5 (b) 4

(c) 10 (d) 50

[3%1 (A)]



22. IRNT Th gl W TN 3R TH FHr TET| 380 W 20% H g AM| 3R 384 25% H
Qe °T off gicr ar @8 &1 1000 31f&eh| A% & T 3 fohcalr sparcrer fohar?

(v) % 5,000 &) &I 10,000

(c) &1 20,000 (1) &I 25,000

[ (&)

23. STt &Y 3a7% @ & T W 30% 3R BT 20% @ g fAed §1 1250 38 For fraet g
He?

(a) 44% (b) 55%

(c) 52% (d) 25%

[3R1 (A)]

24. 327 $1 wifsdt i ¥ 7 fohefalr ST BT §, 3R 367 Hfsdl W 25% Te iR Arsr fash
&I AT # 40% T e T BT AT §7?

(a) 15% Fafer (b) 5% e
(c) -5% dgefer (d) #I$ gefer =it &

[3R1 (B)]

25. 5% SN2 HIcal & &G, Teh &ar A i HrAa &1 9595. sahT RTd Hrad &
(T) &1 10000 (1) &I 10074.75

(c) ¥l 10100 (21) ¥l 12000

Q.1  The ratio between the price of two cows costing Rs. 1,500 and Rs. 1,000.

@31 (b) 3:2 (c) 3:4 (d) 4:3
Q2. The ratio between 1 meter and 1 kilometer is.

(@) 1:0.001 (b) 1:0.0001 (c)1:100 (d)1:1,000
Q3. Which one of the ratio is smaller?

(a)3:4 (b)5:6 (c)7:8 (d) 17:15
Q4. The amounts have a ratio 9:7. If the first one is worth Rs. 27, Find the other one.

(@) 21 (b) 9 ()7 (d) 63
Q5. The amount have a ratio of 4:3. If the first one is worth Rs.28, Find the other one.

(@) 12 (b) 21 (c)4 (d) 3

Q6. Divide Rs. 560 between A and B in such a way that their shares are in the ratio of 3 : 5.

(a) 210 and 350 (b) 400 and 160 (c) 230 and 330 (d) None of these
Q7. In a class of 42 students, 6 students are girls. The ratio of boys and girls in class is.
@7:1 (b)7:6 (c)6:7 (d)y6:1

Q8. The ratio of pass and fail students is 9 : 2. If 20 students fail, number of pass students is.

(a) 180 (b) 220 (c) 110 (d) 90
Qo. Two amount are have a ratio 8 : 9. If the first one is worth 24, the other is.
(a) 27 (b) 9 ()7 (d) 63



Q10. The sum of three numbers is 98. The ratio of first and second number is 2/3 and the ratio of
the second and third number is 5/8. Find the third number.

(a) 20 (b) 30 (c) 48 (d) 50
Ql1. IfA:B=2:3andB:C=5:6,thenthevalueof A:B:Cis.
(@ 10:18:15 (b) 10:15:18 (c)15:10:8 (d)18:15:10

Q12. Inaclass the ratio between the boys and girls is 1 : 3. If the number of boys is 11, then the
total number of boys and girls in the class is.

(@) 31 (b) 33 (c) 36 (d) 42
Q13. Divided Rs. 1,216 between A and B in the ratio of 1/3 : 1/5, A’s share will be.

(a) Rs. 760 (b) Rs. 456 (c) Rs. 976 (d) Rs. 856
Q14. What should be added to each item of 2 : 5 that it becomes 5 : 6.

(@) 13 (b) 3 (c) 23 (d) 33
Q15. Inaclass of 75 students 15 have failed. The ratio of passed and failed is.

@1:4 (b)4:1 (c)1:5 (d)5:1

Q16. Aratioin its lowest terms is 3 : 7. If the difference them is 16. Then the quantities are.

(a) 12:28 (b) 28: 12 (c)10: 26 (d)26: 10
Q17. A & Bdivide profit in the ratio of 4 : 5. If the is Rs. 9,000 then share of Aand B are.
(@) Rs. 5,000 & Rs. 4,000 (b) Rs. 3,000 & Rs. 6,000 (c) Rs. 4,000 & Rs. 5,000

(d) Rs. 7,000 & Rs. 2,000
Q18. Inthe proportion 15 : 66 :: 185 : X, then the value of x is.

(a) 814 (b) 841 (c) 714 (d) 741
Q19. The third proportional to 9 and 12 is.

(@) 12 (b) 16 (c) 14 (d) 24
Q20. The mean proportional of 0.32 and 0.02 is.

(@) 0.05 (b) 0.06 (c) 0.07 (d)0.08
Q21.  The first proportional of 2.4 and 7.6 is.

(@) 1.6 (b) 1.2 (c)1.8 (d)3
Q22. If 36 men complete a work in 25 days, then 15 men will complete it. (in days)

(a) 61 (b) 50 (c) 56 (d) 60

Q 23. The last three terms of a proportion are 8, 12, 16 respectively, then then the first term is.

(@6 (b) 4 (c)2 (d) 12
Q24. If 3, x, 1083 are in the continued ratio, find x.

(a) 57 (b) 75 (c) 37 (d) 73
Q25. Find mean proportional of 4 and 16.

(a) 64 (b) 12 (c) 24 (d) 36

Q26. Thesalary of A, B and C are in continued proportion. If the salary of B and C are Rs. 250 and
1,250 respectively. Then salary of A is.

(a) 50 (b) 500 (c) 2,500 (d) 750
Q27. The mean proportional of 7 and 28 is.
(a) 14 (b) 21 (c) 35 (d) 42
Q28. The last three terms of a proportion are 2, 3, 6 respectively, then then the first term is.
(@1 (b) 4 (c)8 (d) 10
Q29. If 2, x, 8 are in the continued ratio, find x.
(@) 4 (b) 6 (©)0 (d) 10

Q30. The third proportional to 16 and 24 is.
(@) 36 (b) 20 (c) 30 (d) 36



Q31. What is the fourth proportion of 48, 36 and 4.
(@3 (b) 24 (c) 12 (d) 4
Q32.  4/5 of price means.
(@) 20% (b) 40% (c) 60% (d) 80%
Q33. The value of 12% of Rs.500 is.
() Rs.60 (b) Rs.52 (c) Rs.62 (d) Rs.62.50
Q34. The population of a place increased from 7,680 to 8,064. The percentage increase is.
(@) 4.76% (b) 5% (c) 7.5% (d) 10%
Q35.  What will be the 12% of Rs. 1,000.
(a) Rs. 100 (b) Rs.120 (c) Rs.150 (d) None of these
Q36. If percentage of saving on income is 25, then percentage of saving on expenses is.
(@) 15% (b) 25% (c) 66% (d) 33!
Q37. The number whose 12%:% is 175% will be.
(a) 1,404 (b) 1,440 (c) 1,044 (d) 404
Q38. 8% expressed as fraction is.
(@) 25/3 (b) 3/25 (c) 1/12 (d) 1/4
Q39.  The consumption of sugar increased from Rs. 112 to Rs.140. The percentage increase in
consumption of sugar is.
(a) 25% (b) 28% (c) 20% (d) None of these
Q40. The number whose 20% is 1/8 is.
(a) 0.625 (b) 0.652 (c) 6.25 (d) 62.5
Q41. Inaclass of 80 students, 64 passed. How much percentage of students failed
(a) 20% (b) 32% (c)16% (d) 8%
Q42. Half of 1% written as a decimal will be.
(a) 0.005 (b) 0.05 (c) 0.02 (d)0.2
Q43. What percent of 1 kilogram is 5 grams.
(a) 0.5% (b) 5% (c) 0.005% (d) 0.2%
Q44. What percent of a day in 3 hours.
(a) 12.5% (b) 22.5% (c) 12% (d) 12.25%
Q45.  Adding 33' of a number in that number gives 200, 66% of that number is.
(a) 100 (b) 150 (c) 200 (d) 300
Q46. A’s income is 20% more than B’s income. How much less is B’s income that A’s income.
(@) 20% (b) 83% (c) 16%% (d) 80%
Q47. There are two candidates in an election. The candidate who gots 60% vote, won the election
by 5,250 votes. The votes received by the defeated candidate are.
(a) 10,500 (b) 15,000 (c) 10,050 (d) 3,421
Q 48. If 5 litre of 100% acid is added to 5 litre of 20% acid mixture, then the quantity of acid in the
mixture is.
(a) 50% (b) 52.2% (€)57.5% (d) 60%
Q49  If average marks of 100 student are 50 , then total marks will be:
(a) 5,000 (b) 4,000 (c) 3,000 (d) none of these
Q50. Arithmetic mean of 11, 12, and 13 will be :
(@11 (b) 12 (c) 13 (d) none of these
Q51. If mode is 15 and median is 12, arithmetic mean will be :

(a) 28 (b) 15 (c) 12 (d) none of these



Q52.  Digits are kept in ascending and descending order, for calculating:

() harmonic mean (b) geometric mean (c) weighted mean (d) median
Q53.  Mode is the formula of mutual relationship between median and arithmetic:

(@) Z= 3M-2X (b) Z=3X-2M (c)X=3z-2M (d) M=3z-2X
Q.54  Which quartile is median:

(@) First (b) Second (c) Third (d) None of these
Q55. Analysis Method is used in:

(@) Arithmetic mean  (b) Median (c) Mode (d) Harmonic Mean
Q56. Geometric mean is the nth root of which series:

(@) Infinite (b) Uncertain (c) Certain (d) None of these
Q57. The ratio between 1m and 1km is:

(a) 1: 0.001 (b) 1: 0.0001 (c) 1: 100 (d) 1:1000
Q58. Which one of the ratio is smaller?

(@) 3:4 (b)5:6 (c)7:8 (d) 17:15
Q59. A and B divide profit in the ratio of 4:5. If the profit is Rs 9,000, than A’s share is:

(a) Rs 2,000 (b) Rs 4,000 (c) Rs 5,000 (d) Rs 7,000
Q60. Two amounts have a ratio 9:7. If the first one is worth Rs 27, find the other one:

(@ 21 (b) 9 (c)7 (d) 63
Q61. The third proportional to 9 and 12 is:

(@ 12 (b) 16 (c) 14 (d) 24
Q62. The mean proportional of 0.32 and 0.02 is:

(@) 0.05 (b) 0.06 (c) 0.07 (d) 0.08
Q63. In the proportion 15:66::185:x, the value of x is :

(a) 814 (b) 841 (c) 714 (d) 741
Q64. The first proportional to 2.4 and 7.6 is :

(@ 1.6 (b) 1.2 (c)1.8 (d)3
Q65. “4/5 of price” mean:

(@) 20% (b) 40% (c) 60% (d) 80%
Q66. The value of 12%2% of Rs 500 is:

(@) Rs60 (b) Rs 52 (c) Rs 62 (d) Rs 62.50
Q67. The population of a place increased from 7,680 to 8,064. The percentage increase is :

(@) 4.76% (b) 5% (c) 7.5% (d) 10%
Q68. What will be the 12% of Rs 1,000?

(d) Rs.100 (b) Rs.120 (c) Rs.150 (d) None of these
Q69. If percentage of saving on income is 25, then percentage of saving on expenses is.

(@) 15% (b) 25% (c) 66.5% (d) 33.34%
Q70. The number whose 12%:% is 175%2% will be :

(@) 1,404 (b) 1,440 (c)1,044 (d) 404
Q71. ‘Half of 1% written as a decimal will be :

(a) 0.005 (b) 0.05 (c) 0.02 (d)o0.2
Q72. What % of 1kg is 5gm?

(@) 0.5 (b) 5 (c) 0.005 (d) 55
Q73. What % of aday is 3 hrs.?

(@ 125 (b) 22.5 (c) 12 (d) 12.25

Q74. The consumption of sugar increased from Rs112 to Rs 140. The percentage increased in
consumption of sugar is
@) 25% (b) 20% (c) 28% (d) None of these



Q75.

Q76.

Q77.

There are two candidates in an election. The candidate who got 60% vote won the election by
5,250 votes. The votes received by the winning candidate are :

(a) 10,500 (b) 15,000 (c) 10,050 (d) 3,421
A’s income is 20% more than B’s income. How much less is B’s income than A’s income?

(@) 20% (b) 83% (c) 16.67% (d) 52%
The ratio between the prices of two cows costing Rs 1500 and Rs 1,000 is.
@ 3:1 (b) 3: 2 (c)3:4 (d) 4:3

Short Answer Type Questions :
CLESHE I LT
Q. 1 The ratio of two numbers is 2:3 and there is sum is 85. Find the numbers.
al HEATHT T Ie[uraT 2:3 § 3R TNer 85 §1 HEATIHT T Il ST

Q. 2 Sunil is elder than Rajesh by five years. After five years there ages would be in the ratio
of 5:4. Find their present ages.

Gellel TS F 9T Ter 95§ 9rT AT & &G 3H 5:4 & HeJdid H grofl| Sefehr

IAATT 37 I Il 9T |

Q. 3 A’ saves 5% of his income, what percent of expenditure is saving?

‘A’ 9T 3T T 5% ATAT g, df 9ad 9T T fhdar gfaera gem?

Q. 4 If 25% of the population of a city is 200? Find the total population.

I Fordly Qe Y STATEETT T 25% 1T 200 82 Fol SIAHEET Al HIAT|

Q.5 How many percent should the use of milk be increased if the price of milk is decreased
by 20% so that the expenditure remains unchanged?

g & Hed H 20% T FAT g W gy H 3uANT frdel yfderd §¢ S =nfge
difes =aa 3aiafda @2

Q.6 A scooter was sold for Rs.8000 through an agent. The agent charged his commission at
the rate of 1% from purchaser and 1.5 from the seller. Find his commission.

Teh The &l Ueh Usic & ATEIH & 8000 ¥0Y H €T a1AT AT| Tsic & shell § 1%
3R fashar @ 1.5 & & & YT HARG TgAT| IHHT HHRE A HIAT

Q.7 An agent gets 8.5% general commission and 1.5% dell cradle commission. If the sale is
worth of Rs.24,000, find the agents commission.

Uedh TSiC &I 8.5% HTHGT HAR 3R 1.5% dell cradle T Aear &1 afg Sr

Rs.24,000 & AT &, d Talc T SR AT HfST|

Q.8 The monthly sales of an agent is Rs.25,000. In the end of the year he sent Rs
2,60,250 to his principal. Find the percentage rate of commission.

Taie T ARAS §hr 25,000 T &1 a¥ & 370 & Ig 379y [Aerar 1 2,60,250
9T ATl HERE HT X gfaerd Jd Hiiev]

Q.9 Bombay dyeing allows a discount of 15% on the clothes purchased. A person purchases
clothes worth Rs.470. How much money will he give?




Sl @S @i AU HUST W 15% N P T § Teh sAfFd 470 I0F & HUs
Gliedr g1 a8 Tl 98 29

Q 10 A publisher supplies 22 copies for every 20 copies of the book ordered and also allows a
cash discount of 10%. What is the net rate of discount to the buyer?

Teh Yehlleh ST T 918 G T Gedeh 20 St & fow 22 gferdt r 3myfed
FIAT § 3R 10% HT Fehe; Fe 8 <ar g1 Sl AT fohdel ufderd dr eX & Yey
geer fAoar § 2

Long Answer Type Questions :

SE3adT yeat

Q. 1 In a college of 405 students the ratio between the numbers of boys and girls is 7:2. If the
number of girls is raised by 50 and the ratio of boys and girls comes to be 3:1, then find the
increase in the numbers of boys.

405 DHET & T Fielsl H sl R Tsfhal 1 d&ar &1 7:2 3O gl I
arsfehal BT FEar & 50 B BT g7 & AR A IR sl F 3FAT 3L &
T §, AT oISl T HEAT H gefd #T qal ey |

Q. 2 Ramesh, Mohan and Suresh play cricket. The runs scored by Ramesh and Mohan are in
the ratio of 3:2. Runs of Mohan and Suresh are also in the ratio of 3:2. Together they score
418 runs. How many runs did the score individually?

T, AIgeT 3R GA fohehe Weld g1 AU 3R HgeT GaRT &7 37T T 3:2 &
3gared # g1 AgeT 3 G ok T o 3:2 & g A g1 At o fAerRT 418 &
SATT| S AF A fahdel & qare?

Q. 3 Milk and water are mixed in a vessel A in the ratio of 5:2 and in a vessel B in the ratio of
8:5. In what ratio should quantities be taken from the two vessels so as to form a mixture, in
which milk and water will be in the ratio of 9:4?

Teh il A # g 3R el 7 5:2 & o] & 3R ol BH 8:5 & eura #
e S g1 0T s & T gt e & @ fh| 3edrd # A o S
A1ie T, foresl gy 3R et 9:4 & 3egdrd & grem?

Q. 4 A candidate wins the election by 2745 votes getting 65% votes. Find the total number of
votes cast.

Tsh 3FHIGAR 2745 Al & 65% HA UICd FX GAId ST &1 ST I HAl - Fel
&1 AT AT

Q. 5 Ram has to secure 50% of marks to pass. He gets 50 marks and field by 50 marks. Find
the maximum marks.? Or in an examination 75% students passed in accountancy, 70% passed

in statistics and 23 failed in both the subjects. If 136 studentPassed in both the subjects,
calculate the number of candidates, who appeared in the examination.

TH AT AT gl o T 50% 3k FRI&TT ket 81 37 50 3k el 3R 50 37 &
mlmwmwﬁlquﬁmﬁn%w&ﬁﬁgm?mm:i




Unit 2

ﬁzs@ﬁﬁuﬁﬁdwgmﬁaﬁﬁwﬁﬁmm%ﬁqﬁmﬁma
gl are 3Fieart Y FEAT Y AT A

Q. 6 A manager receives a commission of 10% on the gross turnover and bonus of 5% on the
sum exceeding Rs.6000. If he gets Rs.2600 as commission, find the amount of bonus.

Udh Yt T hol HIRIEGR G 10% T HHEIMT 9T glar g 3R 6000 T &
3T & AR W 5% FT ST Heldr g1 3R 39 FART & FF H 200 9
fAora §, ar =g i TR F1 gar JEnw|

Q. 7 An agent gets a 5% commission on the full sale and 3% bonus on the amount of the sales
exceeding Rs.10,000. He got Rs.1500 as commission, find the amount received by him as
bonus.

T Tl &l QU7 sl oX 500 sefterst 3R fshr &hr Tfr o¥ 3% Serd %1 10,000
& HF g S 8l 36 HARIT b & H 1500 9 fHel, 3Idh aRT 9red I0fer
H A" & ¥T H AT

Q. 8 What do you understand by nine values table? Prepare a nine values table with an
imaginary data.

STaTgacy difelerl & 3T AT GHSTT 87 U FHleUiaeh 36180l & 1Y Adadcy
drfarsr R &L

Q. 9 Explain the concept of commission, brokerage and discount with examples.
HHRT, Gellell 3R Sger FI FTUROMAT FT 3GIEI0T & TTYT TAST A |

Q.10 After charging the managers commission the net profit of Shri Aayush Jain is Rs.1
6835. 9% of total profit as commission is allowed to the manager. Find managers commission
and total profit.

YT T TSl HA & o, AT YT SleT I YetT of1eT 16835 T &1 Fol AT T
9% HHNRIT & T H Yaitieh I AT ST &1 Yetreh &l heRle 3R FHel oM AT
ey

Unit 11

Simultaneous Equation JaTqd HHHIOT
MCQ

Objective Questios

1.

If4x +2y=6,thenthe valueofyintermsofxis:
a. 3+3x

b. 6-x
c. 3-2x
d 3+x

2



2.  4x+20=0,thenthe valueofx:

a. -5
b. 5

¢ =10
d. 10

3. If 2x +y =3 thenthevalueofxintermsofy is:

a. 3-y
b. 3-y
2
c. Y=8
2
4. Y



4.

5.

6.

7.

Tens digitof anumberoftwodigits isxandunits digitisy. The Numberls
a. 10x+y

b. 10y+x

C. Xy

d. x+y

The sumoftwonumbersisé4and differenceis8,the numbersare.

a. 26,38

b. 28,36

c. 30,34

d. 30,38

Thesum of twonumbersis7andtheirproductis12,thelargernumber is
a. 7

b. 6
c. 5
d 4

The sumoftwonumbersis72.0neofthenumberisdoubleoftheother,

The smaller numberis:

10.

a. 36
b. 12
c. 24
d. 48

Twice ofthe total oftwo numbersare 80and their differenceis8. numberswillbe:
a. 24,32

b. 24,16
c. 28,20
d. 12,20

A father’s ageis40yearsand his daughter’s ageis9years. Father's agewill bedouble then

thatofhis daughter’sageafter:
a. al8years

b. b.20years
C. C.22years
d. d.24years

Afractionbecomes 1 /3when 1lissubtractedfrom thenumeratorand 1/4 when5isadded
tothedenominator.The fractionis:

2
a. —
3



3
d.g

11. Cramer’s Rule is applied in which method
Graphical Method

Comparison Method
Cross-Multiplication Method
Substitution Method

o 0 T W

12. Find two numbers whose sum is 8 and difference is 2 :

a. 53
b. 8,6
c. 10,6
d. 2,6

13. 37 is quotient when a three digit number is divided by the sum of all three digits. If digits are
some than number is:

a. 121
b. 211
c. 112

111

14. If 8a—13b =96, then the value of binterms of ais;

96 —8a
a.
13
96 +13b
b.
8
8a — 96
c.
13
13b - 96
d.
8

15. If 2x+ 3y =28 and 3x + 2y = 27, then the values of x and y will be :

a. 2,3
b. 4,5
c. 56
d. 61
16. Who prepared statement of accounts ?
a. Purchaser
b. Seller
c. Agent
d. All of these

17.  When Invoice is prepared?
a. Before Sale



b. After Sale
c. After receiving the order

d. After the enquiry of goods
18. How many copies of invoice are prepared ?
a. 2
b. 4
c. 3
d. 8
19. The expenditure shown in Invoices are:
a. Actual
b. Estimated

¢. Individual
d. None of these
20.  Who prepare Invoices ?
Purchaser
Seller
Agent
All of the above

a 0 T o

21. If x- 4 = 5, then the value of x will be
15

2

10

24

Q 0o T W

22. If 2x +y = 3 then the value of x in terms of y will be
a. 3-y
b. 22

2
y-3

c.
342
y

23. If 4x +2y = 6 then the value of y in terms of x will be
3+ 2x
6-x
3-2x
3+2
2

o o T o

24. The sum of two numbers is 20 and their difference is 4, the numbers are
a. 10,6

b. 12,8
c. 4,16
d. 13,7

25. The sum of two numbers is 72, one of the numbers is double of the other. The numbers are



a. 44,28
b. 42,24
c. 21,42
d. 48,24

26. If 1is added to the numerator of a fraction, it becomes 1 and if 4 is added to the denominator

. 1 L
it becomes > The fraction is

6
a. -
7
4
b. -
5
5
c. =
6
3
d. =
2

27. Father’s age is 3 times that of his son. 15 years ago the father’s age was 9 times that of his son.
The present age of father is
40 years

a

b. 50 years
c. 60years
d

70 years

28. Father’s age is 4 times that of his son. After 6 years father’s age will be 3 times that of the son.
The present age of the son is

a. 12vyears
b. 18 years
c. 20years
d. 24vyears
29. If 2x—3 =4 then x is equal to
a. 7/2
b. 1/2
c. 7
d 1
30. If4x+2y=6,thenyintermsof xis
a. 3+2x
b. 6-x
c. 3-2x
d. 32X
2
31. If 2x+y =6 and x + 2y =6then the values of x and y are
a. 0,6
b. 3,0
c. 0,3
d. 2,2

32. If the sum of two numbers is 40 and the difference is 20 the numbers are
a. 15,25



b. 10,30
c. 535
d. 30,15
33. The father’s age is 3 times of his daughter, 15 years before father’s age was 9 times that of
daughter. Find their present age.

a. 60,20
b. 90,30
c. 45,15
d. 36,12
34. The sum of two digits of a number is 15. On adding 9 to it the digits are reversed. The number
is
a. 87
b. 78
c. 68
d. 58
35. Solution of 4x +y =24, 3x -5y =8 is
12233 zzug)
b. > 78
128 40
25’25
d. 4,8
36. If 2x =y, 2y =z, the value of x, y, z are
a. 0,0,0
b. 1,1,1
c. 1,02
d. 0,1,2

37. Ifx-4 =5, then the value of x is,
1
-1
9
-9

a 0 T o

38. If 1.3 then the value of x is
2x 4

-1

o 0 T o
1
N

39. If ;ZC_T};:% then after cross multiplication the eq. will be
a. 3x+5y=-11
b. 5x+11ly=12
c. x-13y=16



d. None of these

2x=3 2 .
40. If =— =then the value of x is
3x+2 3
-3
a. —
11
5
b, —
12
7
c. —
12
6
d —
13
2x .
41. |If = 3 then the value of x is
3x+2
-3
a. —
7
3
b. =
7
4
c. -
7
5
d =
7
1-9 5 .
42. If Y. = 2 then the value ofyis
19-3y 8
19
a. —
29
-29
b, —
19
-19
c. —
29
29
d —
19
5z-3 8 .
43, If = —then thevalueof z is
2z 9
29
a. —
27
-27
b, —
29
-29
c. —
27
27
d —
29

44. A man pays 5 paisa tax on Rs. 1. If the total tax paid by him is Rs. 1550, then on how much amt
did he pay the tax?

a. Rs. 15500
b. Rs. 15505
c. Rs. 30000
d. Rs.31000

45, The speed of a car is 75 km/h. how much distance will it travel in 12 sec?
a. 120m

b. 200 m
c. 225m
d. 250m

46. The ratio of the length and breadth of a rectangle is 4:3. The area of the rectangle is 192 sq.
cm. The perimeter of the rectangle will be
a. 56cm



b. 28 cm
c. 46cm
d. 36cm
47. The difference between two positive numbers is 72 and if one of them is divided by the other,
the quotient is
a. 22and9%4
b. 24 and 96
c. 20and92
d

30 and 102

4

48. If == = = then what is the value of x?
x+1 5

a. 5
b. 6
c. 8
d 4
49. The sum of two numbers is 45 and their ratio is 7:8. The numbers are
a. 28,32
b. 35,40
c. 21,24
d. None of these

50. If the digit 5 is placed after a two digit number who's ten’s digit is x one’s digit is y, the new
number is

10x +y +5

100x +10y +5

X+y +5

None of these

Q 0o T W

51. The value of x for which x7—5

5

x—3_1is
5 2

a 0 T o

7
8
9

x—3 _ 5x—4 is
5 8

52. The solution ofxT+6 +
X=2
X=4
X=6
X=8

Qa 0 T o

2x+1 3.
= -IS
3x-1 2

53. The value of x for which
a. 1
.-l
c. 2



d -3
54. The value of x for which (x +4)?— (x -5)%> =9 is

a. 1
b. 2
c. 3
d 4
3 1 1 .
55. If 3=x 3==12-then xis equal to
4 x 2
1
a. -
3
b. 1
c. 2
d 3
56. If5 —gz 4 then the value of x is
a. 3
b. -3
c. 4
. -5
57. The sum of a number x and its reciprocal is 18. Then the eq. showing this relation is
a. x+ 1= 18
X
b. x—18=1
X
c. xX— 1= 18
X
d. x+18=1

X
58. The figure shows a rectangle with perimeter of 60 m. The value of x is

(x+4) cm
(3x-2) cm

a. 7
b. 9
c. 12
d. 29

59. Four-fifths of a number is greater than three-fourths of a number by 4. Then the number is
a. 80
b. 90
c. 70
d. 60

60. éof a number when multiplied by% make it 48. The number is
a. 32
b. 36
c. 48
d. 96



61. On adding 50 to 50 % of a number, the result is the number itself. The number is
a. 75
100
c. 125
150

62. Thirty years ago my age was %of what it is now. My present age is

50

45

40

60

63. If the sum of two consecutive multiples of 3 is 69, then the numbers are
a. 33,36

Qa 0 T o

b. 30,39
c. 27,42
d. 24,45

64. The sum of three consecutive even numbers is 234, then the smallest among them is
a. 76
78
c. 80
d. None of these
65. If % of a number is 20 less than the original number, than the number is

a. 40

b. 30
. 45
d. 50
66. If a number increased by 10% of itself gives 121 then that number is
a. 100
b. 105
c. 110
d. None of these

67. Aand B together can complete a piece of work in 8 days, which A alone can do in 12 days. Find
the number of days taken by B to complete the same work alone.

a. 12days
b. 16 days
c. 24 days
d. 36days

68. Invoice includes
Quantity of goods
Value of goods
Trade discounts

Qa 0 T o

All above



69. At station price includes
a. Local price
b. Packing expenses
c. Carriage up to station
d. Allabove
70. includes value of goods, packing, carriage up to station, the railway loading charges.
At station price invoice
F. O. R. invoice
C. & F. price invoice

Qa 0 T o

Local invoice

71. invoice prepared before purchase of goods.
Ordinary invoice

Proforma invoice

Franco invoice

Qa 0 T o

All above

72. expenses added in franco price invoice
Packing

Freight invoice

Insurance

Q 0o T W

None of the above

73. the expenses of invoice incurred
less

add

both (a) & (b)

none of these

o 0 T o

74. Types of invoice are
Proforma invoice
Invoice

Both (a) & (b)
None of these

Qa 0 T o

75. Uses of invoice are

Compare the invoice his order
Pay octroi on the basis of invoice
Both (a) & (b)

None of these

a 0 T W

76. Who prepared statement of Accounts?
Purchaser

T o

Seller
c. Agent
All of these
77. When Invoice is prepared?
a. Before Sale



After Sale

c. After receiving the order
d. After the enquiry of goods
78. How many copies are prepared of Invoice?
a. 2
b. 4
c. 3
d. 8
79. The expenditure shown in Invoices are:
Actual
Estimated
¢. Individual
d. None of these
80. Who prepare Invoice?
a. Purchaser
b. Seller
c. Agent
d. All of above
81. Which of the following is the solution for x in the simultaneous equation
xX+7y=5
x—-7y=-9
a. X=4
b. X=-2
c. X=2
d X=3
82. Solve the system of simultaneous equations below
2a +5b =16
10a-3b=-4
Which of the following is the solution for b?
a. 2
b. 3
c. 4
d. =2
11
83. Consider the simultaneous equation below
2x+7y =4 .....(i)
-3x +5y =-5 .......(ii)
Which of the following are the correct steps to eliminate x from the equation
a. Multiply equation (i) by 3 and equation (ii) by 2 and subtract
b. Multiply equation (i) by 3 and equation (ii) by 2 and add
c. Multiply equation (i) by 5 and equation (ii) by 7 and subtract
d. Multiply equation (i) by 5 and equation (ii) by 7and add



84. Consider the simultaneous equation below

3x+2y =10
4x +3y =13
Which of the following is the solution for x?
a. 4
b. 2
c. 1
d. -2
85. Solve the system of simultaneous equations below
xX+y=4
X—y=6
Which of the following is the value of x?
a. 10
b. -1
c. 2
d. 5
86. Solve the pair of simultaneous equations below
3x+y=7
3x—-y=5
a. x=2,y=4
b. x=2,y=1
c. x=1,y=4
d x=1y=-2
87. Solve the pair of simultaneous equations below
Ix +2y =12
X+2y=6
a. x=2,y=2
b. x=3.6,y=1.2
c. x=2,y=4
d x=2,y=-1

88. Two matrices A and B are said to be conformable for addition if
Number of Columns in A equals the Number of Rows in B

T o

Number of Rows in B equals the Number of Columns in A
c. Rows of A =Columns of B
Order of A=Order of B
89. Thevalue of m, ifx =1,y =2 is a solution of the equation 2x + 3y = m.

a. 5
b. 6
c. 7
d. 8

90. 3x+10 =0 will has:
a. a.Unique solution



b. b.Two solutions
c. c.Infinitely many solutions
d. d.No solution
91. The solution of equation x-2y =4 are :
a. (0,2)
b. (2,0)
c. (4,0)
d. (1,1)
92. Solve the equation forx:, 6x-27+3x=4+9-x
a. a4
b. b.5
c. ¢b
d. None of these
93. A bag contains equal number of Rs.5, Rs.2 and Re.1 coins. If the total amount in the bag is
Rs.1152, find the number of coins of each kind?

a. 432

b. 288

c. 144

d. None of these

ANSWER KEY

1. (o) 20. (b) 39. (a) 58. (a)
2. (a) 21. (c) 40. (b) 59. (a)
3. (b) 22. (b) 41. (a) 60. (d)
4. (a) 23. (c) 42. (b) 61. (b)
5. (b) 24. (b) 43. (d) 62. (b)
6. (d) 25. (d) 44. (d) 63. (a)
7. (e) 26. (c) 45. (d) 64. (a)
8. (b) 27. (c) 46. (a) 65. (d)
9. (c) 28. (a) 47. (b) 66. (c)
10. (a) 29. (a) 48. (d) 67. (c)
11. (c) 30. (c) 49. (c) 68. (d)
12. (a) 31. (d) 50. (b) 69. (d)
13. (d) 32. (b) 51. (c) 70. (b)
14. (a) 33. (a) 52. (d) 71. (b)
15. (c) 34, (b) 53. (a) 72. (d)
16. (b) 35. (a) 54. (a) 73. (b)
17. (b) 36. (a) 55. (d) 74. (c)
18. (a) 37. (c) 56. (a) 75. (c)
19. (a) 38. (b) 57. (a) 76. (b)
77. (b) 82. (b) 87. (a) 92. (c)
78. (a) 83. (a) 88. (d)
79. (a) 84. (a) 89. (a)
80. (b) 85. (d) 90. (c)

81. (b) 86. (b) 91. (a)
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Simultaneous equations are used to show ............... variables.

Both sides of the equation will be ..................

If the value of xis 3is 3 in 2x + y = 10 then the value of y will be ..................
If the value of y is 6 in 3x + y = 12 then the value of x will be ..................

If 2y = 4 the value of in x + y = x will be ..................

If x = ithen the value of y in 8x + y =5 will be ..................
Ifx=8andy+6,5x+5y=........
There are ............... methods to solve simultaneous equations.

If 4x + y =12, the value of y in terms if x ...............
10 If 2x + y = 8 then the value of x in terms of y ...............

LN URWNRE

ANSWER KEY
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[
>
=~
>
o
3
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2. Equal
3. 4
4. 2
5. 6
6. 3
7. 7
8. Five
9. 6-2x
10. 4 -2y
Short Answer Type

Simultaneous equations

1. What is meant by Simultaneous equations ?

2 . Explain the method of substitution of solving simultaneous equations .

3. Explain the method of elimination of solving simultaneous equations .

4 . Explain the method of comparison of solving simultaneous equations .

5 . Explain the method of cross - multiplication of solving simultaneous equations .

Long Answer Type 1. What do you mean by simultaneous equations ? Explain methods of solving
simultaneous equations with examples . Practical Questions

Long Answer Type 1.2 .3.

What is meant by invoice ? Explain advantages does a purchaser and a seller get by an invoice .
Explain methods of preparing invoice on different prices .

What is meant by ordinary and proforma invoice ? Show difference between two .

What is meant by foreign invoice . Explain its characteristics and importance .

Practical Questions . Short Answer Type



1. Asold 500 meter clothes to B @ Rs . 100 per meter . A paid packing expenses Rs . 1,000, carriage
upto station Rs . 200, railway landing charges Rs . 80, railway freight Rs . 400 Find out free on rail price
per meter . ( Ans.102.56) 2 . A sold 100 quintles Sugar @ Rs . 2,000 per quintle . A paid packing charges
Rs . 2,000, carriage up to station Rs . 500, railway landing...

UNIT I

I FHIRIOT
(SIMULTANEOUS EQUATIONS]
o 3T YT (Short Answer Type Questions)
1. AT FHTROT T T 379 §2 3aT Jarded HHAHIOT & 31T AT HAS &2
What is the meaning of Simultaneous Equations? Or What do you understand by Simultaneous
Equations?
2 Il FHIROT Y [aATcTe Fosmsv]

Explain the characteristics of Simultaneous Equations.
3. 3Y TRY Y& gerad FAERT a1x+ D1y = Cq, @ axt+ boy = C & mfdm e & o e
AT E?

What is the condition for an unique solution of the simultaneous equations d{X+ b1y =Cqand

Ao+ boy = C2
4. T 3R I Il HHNRIIT A 31T FIT THSAA &2

What do you understand by consistent and inconsistent simultaneous equations?

5. &1 TR o I THIHIOT §o et i fafert & are fafae

Write down the names of methods of simultaneous equations of two variables
6. Tere=tifenc HHTHIOT gel Y :

Solve the following equation

X 3 X 2
_+_=31 _+_=21
4y 3 Yy

7. Teh TEAT T ST @ & 6 3T & | gAY TE&AT Tgell H 6 3HTeh §| T AT H |

If twice of a number exceeds another by 6 and the second number exceeds the first by 6, find the
numbers.

8. JITT] FHIRIUT fohcTal JehR & glcT 82
How many types of simultaneous equation ?
9. fITeh e FITAT SATAT &7

When an invoice is prepared ?



10. H&IT & §dA- (Write short notes on)
(a) ¥eT 9X FTA (Free on railway price),
(b) ST8TeT 9 $1#d (Free on Board).
11.Ush FTeqiaesh siolsh ST 6@ |
Prepare an imaginary format of invoice.
12,351 9 &1 3T g2

What is meant by Invoice ?
13.ds & enfAe g arell A Iasy |

Show items includes in an Invoice

14 85/ @ sl 1 FI71 oret fAea & ?

What advantages does a purchaser get by an Invoice ?
15. draTeh & fIshdr3it & uTed gley arel omeT farf@y|
Write advantages which a seller gets from Invoice ?
16. ==Y sfioTeh @ T 3R 872

What is meant by proforma invoice ?

1631 foaATor S fafdieer Tafear sarsd|

Show different methods of preparing invoice.

17 | ioTeh T AT drsfeh H 3Heck Jdrsd |
Show difference between ordinary and proforma invoice.
18.94 =77 FF disih FTE ?

(What is Franco invoice ?)

19. 7T Aot A T8 ?

(What is local invoice ?)

& 398 99 (Long Answer Type Questions)

1. FITTe] FHHIOT A 3T AT FHSIA 87 3o¢ Gol ol ol [ATST oh #ATH TAST| 3oTe & el e ot
3cIeuT afgd auid HIfST|

What do you understand by simultaneous equations?Mention the name of the methods of solving them.

Explain any one with example.

2. AT FHIIOT o g ol T TATRIAT AT 3eTeXoT Higd qoie HIfoTT|

Explain methods of solving simultaneous equations with examples.



3. &Y 37T TR & TIT Jard T FHIHOT g ol il ol el Taferat 1 aHes U]

Explain any two methods of solving simultaneous equations in two variables

4. AT FHIUT §ol Ihlal ohl FTAEATIT TATe ol FHSTSV

Describe the method of substitution of solving simultaneous equations.

5. FITIcl FHINOT &l it b1 TaeilTeT fafer st 3eTeor dfgd FASIST|

Explain the method of elimination for solving simultaneous equations with example.

6. ATl HHIHIOT Foh 8 Fgcl &7 AT HHIHIUT Gl et b TafPest faferdl ot FHSSTI

What is known as simultaneous equations? Explain the different methods of solving simultaneous equations.
7. AT HENRIOT gl il I Tof 0T ATE ! HASATST
Describe the cross multiplication method of showing the simultaneous equation. (Rewa, 2001, 15) 18. tﬁ'q;cr,

8. 3TN { 34 gV ST & | 10 G Y& 3eTehT 31T ohT TTaT 48 AT| 3eTehT AcTHTeT T AT hITST |

Piyush is 34 years alder than Ayush. 10 years ago, the total of their age was 48. Find their present ages.

9. Teh qehel T SH 2AcT I IWT 1T o To1e et st ¥amm 38 Rs. 150 e fore] forar ot srequfeara
I 38 Rs. 30 SHTAT T T3 30 f&reT o 1e; 39 Foef Rs 3,780 el | 38t forcter feret anran fomam?

A man was employed on the condition that he will get Rs. 150 for the day he works and will be fined Rs. 30

the day he is absent. After 30 days he got Rs. 3.780. For how many days did he work?

10. 60 9T¢ & 15 Sod 8 B YTaTesT STallel T @ Rs.72 YTAHATE &1 100 91 & 18 Fod 7 ge yfafee stema W

gt arer ATl T IasT

The electricity charge of 15 bulbs, each of 60 watts for 8 hours per day, is? Rs. 72 per month. Find the
monthly electricity charges of 18 bulbs of 100 watt for 7 hours per day .

11. Taerar & 10 Ufear feeh a3 &Y, Tcdish Ut 1 AT 180 Y. x 150 @Y. x 120y T 1 10 £ wfa &=t
T & A HTST AT HITSTT, STeffeh 108 LeTaiey aXTaT 1 T &

Vinay exports 10 boxes of silk clothes, each measuring 180 cm x 150 cm x 120cms.Freight be charged @
£ 10 per ton of 1.08 cubic meter. Find out freight.

12. 3@ Sisten el ST ST &2 HIIROT Sioteh dAT Fad 7 sl Heck Tdrsd |

When a proforma invoice is prepared? Differentiate between an ordinary invoice and a proforma
invoice.

13,9057 & 3119 FAT GHSTA & ? SHH Tohol-fohel ATl T TATAL &IdT & ? Teh FHlcUTeleh sloleh JATSY |

What do you understand by an invoice? What are the important points to be covered in an invoice?
Prepare an imaginary invoice.

14 fSAfef@d &t @smsST-(Explain the following)
(%) ¥oT W A | (Price on Rail (P.R.0.) Price),



(@) STgTeT R FIAT| (Free on Board (FOB) Price),

(31) T T FIAT | At Station Price).

(&) ST HTST igd Shred | (Cost and Freight Price).

(3) SATITA-STAT $71ST AT e | (Cost Insurance and Freight (C.LE) Price)
(T) & @I @igd HrAd| (Ex-ship Price),

(ST) ST8TT e hIAd (FAS. Price) | (Free alongside ship Price).

15. Freqfaeh faaior Za Ush fadhed 9= (Debit Note) AR Hiferyr

Prepare a debit note with imaginary figures.

16. e i faedr 3R AT i RIS FT ek Tasd|

Differentiate between a debit note and a credit note.

17. 3ecX TASE ShITord-(Differentiate between)

(i) Srsfer T =T frsteh (Invoice and Proforma Invoice)

(ii) Taehelel T AT 9 (Debit note and Credit note)

(iii) sTehe, TUT STTUTIRe 3798 (Cash Discount and Trade Discount)

Unit 3
ELEMENTRY MATRIX/STI#37& 3Tegg

MCQs

1. The transpose of a rectangular matrix is-
a. Rectangular matrix
b. Diagonal matrix
c. Square matrix
d. Scalar matrix
2. Transpose of a column matrix is-
a. Zero matrix
b. Diagonal matrix
¢. Column matrix
d. Row matrix
3. Tow matrix A and B are multiplied to get AB if-
a. Both are rectangular
b. Both have same order
c. No of columns of A is equal to the no of columns of B
d. No of rows of A is equal to no of rows of B
4, If|A| =0thenAis-
a. Zero matrix
b. Singular matrix



10.

11.

12.

13.

c. Non- singular matrix

d. Zero

If A is a symmetric matrix, then A'=
a. A

b. |A]

c. 0

d. Diagonal matrix
Additive inverse of matrix A is

a. A
b. |A4]
c. A’
A

d. adj—

AN 1]
In a matrix multiplication for A and B, (AB)"
a. A'B
b. B'A!

1
c. —

AB
d. AB
For a non- trivial solution, |4] is-
a. |A|>0
b. |Al|<0
c. |Al=0
d. |A]#0

Two matrices A and B are multiplied to get BA, if

a. Both are rectangular

b. Both have same order

c. No of columns of A is equal to the no of columns of B
d. No of rows of A is equal to no of rows of B

For any non-singular matrix A. A=

a. |AladjA
1
|A] adj A
adj A
4]
d. None of these

A matrix having m rows and n columns with m # n is said to be a

a. Rectangular matrix

b. Square matrix

c. ldentity matrix

d. Scalar matrix

[abclisa

a. Zero matrix

b. Diagonal matrix

c. Column matrix

d. Row matrix

Two matrices A and B are added if



14.

15.

16.

17.

18.

19.

20.

21.

a. Both are rectangular
b. Both have same order

c. No of columns of A is equal to the no of columns of B
d. No of rows of A is equal to no of rows of B
Transpose of a row matrix is

a. Zero matrix

b. Diagonal matrix

c. Column matrix

d. Row matrix

Matrix obtained by changing rows and columns is called
a. Rectangular matrix

b. Transpose matrix

c. Scalar matrix

d. None of the above

[00O0]isa

a. Scalar matrix

b. Diagonal matrix

c. Identity matrix

d. Null matrix

If A'is a matrix of order m x n and B is a matrix of order n x p, then the order of AB is
a. pxm

b. pxn
C. nxp
d mxp

transpose of a square matrix is
a. rectangular

b. diagonal matrix

C. square matrix

d. scalar matrix

If [A] #0, then A'is

a. Zero matrix

b. Singular matrix

c. Non-singular matrix
d. Diagonal matrix

If AB exists, then (AB)is

a. AlB?
b. BA?
c. AB

d. None of the above

The value of [)56 23}] = B é] X,y is-

a. 3,1
b. 1,3
c. 59
d 2,3



2. ThanA=[2 % B=[2 Z]a+Bis

23. 1

24. |

25.

26.

27.

28.

C.

d.

a.

|

o -1

S ecFesanoe

2 2
Row matrix

Null matrix
Column matrix
Scalar matrix
=11, 2, 3], B=[4,5, 6] then the value of A + B is-
[5, 7,9]
[3, 3, 3]
[5,7, 8]
[6,7,9]

[ ]B [ g]thenA+BwiIIbe-

o
i
o

5

2 2

If A= [ 01 O]then then value of A2 will be —

1 0
0 1
0 1
0 1
-1 0
1 0
(1 0 ]

If [i 2 ] = 15 then the value of x will be-

a
b
c
d.
a.
b.
C.

0

15

30

-15

1 0 ]

0 |is
-1

NuII matrix

Unit matrix

Diagonal matrix

d. Triangular matrix
Matrix (AB)’ is equal to-

a.

b.
C.
d

A'-B’
(BA)’
B'A’
A'B



29.

30.

31.

32.

33.

34.

35.

If [; ZSy] = B g] then the value of x and y are-

1,2
2,1
3,4
1,5
A+3 2B+5 -2 1
I[—C+4 p_zl=g 1] ther
a. A=5B=-2,C=4,D=3
b. A=-5B=2,C=-4,D=3
c. A=5B=-2,C=-4,D=3
d. A=-5B=-2,C=4,D=3
IfA=11,2,3],B=1[4,5, 6] then value of 2A + B is-
a. [5,7,9]
b. [9,12,15]
c. [6,9,612]
d. [6,7,9]
Number of elements in 3 x 4 matrix is-

Qa0 T o

=

71T -1
A= [—1 1
Null matrix

a
b. Scalar matrix
c
d

1 1

]andB=[1 1

], then A + B will be-

Column matrix
. Row matrix
The order of matrix having four columns and three rows is-
a. 3x4

b. 4x3
c. 4x4
d 3x3
3 6 2
fA=14 1 7]thentheva|ueofA+liS:
5 2 1
4 6 2
a. |4 2 7
5 2 2
2 6 6
b. 14 0 7
5 2 0
3 6 3
c. |4 2 7
5 3 1
3 6 2
d [4 2 7
6 2 1




36. |fA:[_22 7= 5 2] thenassis:

37.

38.

39.

40.

a
b
c
d.
If A
a.

b.

oo oo

2
Column Matrix

2 2

Row Matrix
Scalar Matrix
Null Matrix

_[-1 0 2 e
—[0 1]thenthevalueofA is:

1 0
0 1
0 1

[—1 O]
L1 0
) 0 ]
0 -1
4 5 6

2 3 1] then the value of 2A x| :
5 7 3

[4 5 6
231]
5
8
4

—_

7 3
10 12]

6 2

NNOF WN
N
—_—

2 -2 -4
-1 3 4 | then the value of A?is
1 -2 -3

2A

The value of k when the matrix [

inverse is

a0 o

2
5
10
3
3
10

2 k
35

] does not have an



41.

42.

43,

44,

45.

46.

47.

48.

If the order of matrix A is 7* * P, And the order of B is ' * ™. Then the order of matrix AB is ?

(A)mxn
(B)nxm
(Cnxp

(D)mxp

If A and B are matrices, then which from the following is true ?

(AJA+B=zB+A
(B) (A #A

(C) AB = BA

(D) all are true

What is ‘@’, if B= B
(A)5
(B) 6
()7
(D)8

47 . . I
a |sasmgular matrix -

(A) BtA!
(B) A'B!
(C) AB
(D) BA

The matrix A= [3 g] isa?

(A) even matrix

(B) odd matrix

(C) scalar matrix

(D) identity matrix

1 3 2

30 1] isa?

2 1 5

The matrix A=

(A) symmetric
(B) skew-symmetric
(C) hermitian
(D) skew-hermitic
What is the order of a matrix?
A. number of rows X number of columns
B. number of columns X number of rows
C. number of rows X number of rows
D. number of columns X number of columns

3 6 2
IfA=14 1 7|thenA+lis-
5 2 1

4 6 2
a.[427]

5 2 2



49.

50.

51.

52.

53.

54.

[2 6 2]
b. |4 0 7
5 2 0l
[3 6 3]
c. |4 2 7
5 3 1l
[3 6 2]
d (4 2 7
6 2 1

Two matrices A and B are said to be conformable for addition if
a) Number of Columns in A equals the Number of Rows in B
b) Number of Rows in B equals the Number of Columns in A
c¢) Rows of A =Columns of B

d) Order of A=Order o

11 ml

|] GJl and lF J
! 5 gives a

The multiplication of the matrices LE

[ I

a) 3 x1 matrix.

b) 1 x 3 matrix..

c) 3 x3 matrix.

d) none of the above

1
31 5 ad 2 1 5|

The multiplication of the matrices L '5J gives a

a) 3 x1 matrix.

b) 1 x 3 matrix.

c) 1x1 matrix.

d) none of the above

The vertical lines of numbers in a matrix are called

a) Rows

b) Columns

c) Column Matrix

d) Row Matrix

If all off diagonal elements are zeros and at least one of the leading diagonal is non-zero, then

matrix is calle

a) Diagonal Matrix

b) Scalar Matrix

c) Identity Matrix

d) Null Matrix

If any matrix A has only one column, then it is called

a) Row Matrix

b) Column Matrix

c) Square Matrix



d) Rectangular Matrix

55. If a matrix A has the same number of rows and columns, then Matrix A is called

a) Row Matrix

b) Column Matrix

c) Square Matrix

d) Rectangular Matrix
56. Any matrix of order 1xn is called

a) Row Matrix

b) Column Matrix

c) Square Matrix

d) Rectangular Matrix
57. If a matrix A has m rows and n column, then order of A is

a)
b)
c)
d)

58. If any Matrix A has different numbers of rows and columns, then matrix A is

nxm
m+n
mn

mxn

a) Row Matrix
b) Column Matrix

c) Rectangular Matrix

d) Square Matrix

ANSWER KEY
(b)
(b)
(a)
(a)
(c)
(d)
(a)
(c)
(b)

. (a)

. (d)

. (b)

. (c)

. (a)

. (b)

WoeoNOUAEWNPR

L
U D WN RO

Fill in the blanks
1.

16.
17.
18.
19.
20.
21.
22.
23.
24.
25.
26.
27.
28.
29.
30.

Matrix is a which is made by scalar number. ............ matrix.

(c)
(c)
(b)
(c)
(c)
(a)
(d)
(a)
(a)
(a)
(b)
(c)
(c)
(a)
(d)

31.
32.
33.
34.
35.
36.
37.
38.
39.
40.
41.
42.
43.
44.
45.

(c)
(d)
(b)
(a)
(a)
(c)
(a)
(b)
(a)
(c)
(a)
(c)
(d)
(b)
(c)

46.
47.
48.
49.
50.
51.
52.
53.
54.
55.
56.
57.
58.



. m

0 0

2. The numbers written in matrix is called in row ............. of that matrix
3. There is only one. ............... in row matrix
4, There is only one ................ in column matrix.
5. In diagonal matrix all members except the members of principal diagonal are ..............
6. In square matrix number of row and ............... are same
7. In scalar matrix all members of principal diagonal are ................
8. In unit matrix the all members of principal diagonal are ................
9. Addition of two matrices is possible if both matrices are of .............
10. Subtraction of one matrix from second matrix is possible when both matrices are of
11. The n=multiplication of matrix A & B is possible only if the no of ............ of A matrix and
the no of ............ of B matrix will be the same.
e PR B F
13. If Ais an m x n matrix and B is an n x p matrix, then the product BA can be find out
when p = ...
14. Al= Sadi.A
15. (AB)!=.......
2 00
16. IfA=[0 3 0] then Al = (......... )
0 0 4
ANSWER KEY
Rectangle array
Elements or
Members
Row
Column
Zero
Columns
Equal
One]
Same order
. Same order
. Columns
.12
. [A]
.B1A?
I/, 0 o0
o 13 o0

1/4



URTFs1 3Tegqg
[ELEMENTARY MATRICES]

ag 3af wea  (Short Answer Type)
1. 31Tegg T aRHTT S|

Give definition of matrix.

2 31y # fATEd dear 41 gl & |

What is to be said the sums written in a matrix ?

3.3TTYR T IRHTST SITSTT T2T 38T8X0T &Y | Give definition of matrix and illustrate with example Warm, 2012,

Sagar 2013, Jiwaji, 2016)

4. SeTS 3T AT 3T 3Tegg

Distinguish between 'unit matrix' and 'scalar matrix'.
5. 37T Fa1 8?2 54 foh IR o= fohar o Iehar 872
What is matrix ? How is it arranged? Jabalpur, 2010, Bhopal, 2009, Vikram, 2015)
6. TSYE 0T T IR §?

When is matrices multiplication defined?

7 fereel &Y 3TTeYgT & UM el T Ffehall IATSV |

Explain the process of multiplication of two matrices
8 T 31TeYg I GHSAST|

Explain null matrix.

9. g 317egg I 3eTeYur wigd aRemT &

Define square matrix with an example.

10. TR0t 31TegE T FASTST|

Explain the diagonal matrix.

11. Te[eiy 3MTegg T &2

What is Triangular matrix?

Short Answer Type

1. Give definition of matrix .

2 . What is to be said the sums written in a matrix ?

3. What is raw matrix ? 4 . What is column matrix ?

5. What is diagonal matrix ?

6 . What is square matrix ?

7 . What is scalar matrix ?

8 . What is unit or indentity matrix ?

9. When two matrices are comparable ?

10 . When addition of two matrices are possible ?

11 . When sabtraction of are possible ?

12 . When multiplication of two matrices are possible ?
13 . When two matrices are comformable for addition and multiplication ?
14 . Describe the properties of multiplication of matrices .

&I 3987 wesT (Long Answer Type Questions)



1, 3eTeXor Afgd IR ST

Define with examples
a) Cl'%cf&l'la?l“%' (Row matrix)
b) [T ATcYg (Null matrix)
c) ﬁEI?U‘I'SﬂFq\E'(Diagonal matrix)
d) 3Tﬁ%T3ﬂcTI§ (Scalar matrix)
e) a?ﬁ'Sﬂfq‘\E'(Square matrix)
f) Qﬁﬂﬁliﬂ?q\%' (Transpose matrix)
2. A1 A $HIfST (Find the value)
(a) (A+B+C),(b) (A+B-C), (c) (A-B-C), and (d) (A -B+ C)
If

A=[6 10 -2 8]_ 15 7 3 —4], 13 -4 -6 5]

0 -3 6 -9’ B'[—z 0 -5 =2I” C'[4 7 -9 8
3. (A+31f&er 31TegE) &1 AT AT HIfAT i AET Aot 6 R 3megg A=
Find the value of (A + Scalar Matrix) if principal diagonal is 6

2 5
8 2

3
A= | 4
2 5 =2
4. TH P SR & 3= & oI 20 fohal X, 25 favell ©f T 50 fohell Ao @RIET| SeTehl Hed hAl: 50 %,

60 %., 30 %. 9fcl fohell 8| el Hod AT HITAT| 37Tegg Jeuid & gof HIfSAT|
A retailer purchased for his shop 20 kg. butter, 25 kg. Ghee and 50 kg Cooking oil. Cost Price are X 50, 7 60 and
30 per kg. respectively. Find the price. Solve the problem by method of matrix.

5.k TAHTAT el TehR BT a&qV A, B, C fAfdd atar &, St o fereelt 3 agoars o o<l Sl 81 57 aeg3it b anfen
R rars &

A manufacturer produces three products A, B and C which he sells in Delhi and Mumbai. Annual sales volumes
are indicated as follows:

A (City) & (Articles)

A B C
f&eelr (Delhi) 5000 7500 15000
#Fag (Mumbai) 6000 12000 8700
fashar gfar Sars(Sale price per unit) 23 3% 4%

3SR T T I g3 T U HT Fel ATYh I A IT0TAT R
Find the total annual receipts of each city by using matrix.

6. 3TeYE forl gl 82 3TCYE & FisT-ahlet W TR Bl 87

What is matrix? What are different types of Matrices?

7. Afcaa Fr uRfEHe FAVAr3it 91 ve feoquft faf@w|

Write a short note on elementary properties of matrices.

8. BT 31TCYg T AT (SSeT) AT A[0T & foIT Jefaeletiar gt 82

When two matrices are conformable for addition and multiplication?

2



9. &Y 3Tegg T (i) 0T AT (ii) FNIT IR § AT AgT Ha AT Hrar?

How will you decide the conformity of two matrices for their (i) product and (ii) addition?

10. Ife & 3Tegg A TUT B AT &1 Al IATT AB T BA Sl shel IRHATA glar?

Given two matrices A and B state when AB and BA both are defined?

11. A& A, x 5h# o1 3TeTg &1 AT B. nxp & T 3TeTg &1 ol AT mxp he I AB 3Tegg JTocl Shiall HEHT §2p T FT
HIST gl TR T forad o BA FTC TohaT ST Heh? S8 3TeYg T sha T G192

If Ais an m x n matrix and B is an nxp matrix, is it possible to find the product AB which will be an m x n

matrix? What must be the value of p so that we can find the product BA? What are the dimensions of that
matrix?

12. What is meant by matrix ? Explain its kinds ?
13. Explain addition of subtraction of two matrix ? Explain multiplication of two matrix . 3

Unit IV
Logarithms and

Antilogarithm

Multiple Choice Questions

1)  Inthe expression logz9 =2, what is the base?

a) 6
b) 2
c) 9
d) None.
[Answer (a) 3]
2) log v8 a) 1 b) 1

fog8



Is equal to

00 I [

NS

6
[Answer (c) 1]

3)  Whatis the logarithm of any number to the base itself?
a) 0
b) 1
c) 2
d) None.
[Answer (b) 1]

4)  Write 27* =240 in log form.

a) Log 243%7=x

b) Log »7243=x

c) 27 log x=243




d) Log «x 27=243

a) 72=128
b) 128=7x2
c) 2'=128
d) None.

6)  What is the value of logs32
a) 2.5
b) 2.3
c) 3.3
d) 1.5

7)  Characteristic of logarithm 304.25 is
a) 3
b) 1
c) 2
d) None.

8) Loga(mxn)isequalto
a)

b) Log am + Log »n

log,m

logan

C) alog m+n
d) None.

[Answer (b) Log 27243=x]
5)  Write log,128=7 in exponential forms :-

[Answer (c) 27=128]

[Answer (a) 2.5]

[Answer (c) 2]

[Answer (b) Log . m + Log an]

9)  What is the characteristic of 3456.7
a) 3
b) 4
c)5
d) 2




[Answer (a) 3]
10) Characteristic of logarithm of 4.253 is



a) 1
b) 4
c) 3
d) o
[Answer (d) 0]
11) The value of log46 + log6 is
a) Log 46
b) Log276

) log 46
log 6

d) None.
[Answer (b) log276]

12) Log.P-Llog.S can be written in logarithm as :-
a) Log .¢£
b) Log . P=S
c) Log ., P x Log .S
d) None.

ag
13) Log form of 31s [Answer (a) Log 2]
a) Log 3/10
b) Log 3+ 10
c) Log3-10
d) 10log 3
[Answer (d) 10 log 3]
14) If there is no base given then base of log is :-
a) 10
b) 1
c)5
d) 2
[Answer (a) 10]
15) Subtrac 3 .3729-
t 1.6251



a) 1 .7478

b) 2 .7478




c) 3 .7478
d) 4 .7478
16) The value of log 35 + log 5 is :- [Answer (a)1 .7478]
a) 7
b) 35
c) 175
d) None.

17) Characteristic of 0.00004 is [Answer (c) 175]
a) s
b) 3
c) 4
d) 1
18) What is the value of log 125 —log 5
a) 75 [Answer (a)S’ ]
b) 25
c)5
d) 20
19) Logs 125 =3 write in index form :-
a) 53 =125
b) 125°=3 [Answer (b) 25]
c) 5x125=3
d) None.
[Answer (a) 53 =125]

20) Ifloga.y 2=¢
then
a) 3 find a
b) 8
c)5
d) None.

[Answer (b) 8]




21) What is the value of 33, if given log 3=.4771213
a) 18
b) 17
c) 16
d) 20
22) Logarithm of 128.88 is :- [Answer (a) 18]
a) 2.1103
b) 3.1103
c) 1.1103
d) 4.1103

[Answer (a) 2.1103]

23) Iflog2=0.3010 and log 3 = 0.4771 the value of log 5 512 is :-
a) 2.870
b) 2.967
c) 3.876
d) 3.912
[Answer (c) 3.876]
24) If log 2 =0.30103, then the value of log(0.05)3 is :-
a) 2.40961
b) 4.09691
c) 2.40961
d) 4.0699
[Answer (b) 4.09691]
25) Ifa*=bY, then:-

a) logg =

b) logb

loga
C) loga _ ¥
loghb X

g

X
y

X

y

None.
d) None 26) Antilog of 1.982Q

is:-a) 95948b ~ «x

10
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[Answer (c) o8¢
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b) 959.4
c) 95.94

d) 9.594
[Answer (c) 95.54]

27) Ifa+b=1,logiox—aandlogioy=bthevalueofxyis:-

a) 10

b) 3

1

d) 5

[Answer (a) 10]

28) If log 2 =0.3010 the value of log 0.02 is :-

a) 2.3010

b) 1.3010

c) L .3010

d)

2 .3010 [Answer (¢) 1 .3010

]

29) Iflog 2 =0.30103, the value of log 20 is :-

a) 1 .30103

b) 1.30103

c) 0.30103

d) 3.0103

30) The value of 8lcg22log4 is - [Answer (b) 1.30103]
a) 2 c) 49
b) 8 d) 7
c) 16
d) 4

31) The value of log4(47) is :-
a) 0
b) 1
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[Answer (d) 4]
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[Answer (d) 7]
32) The value of 5872 x 0.058 will be
a) 340.6
b) 3.406
c) 34.06
d) 3406
[Answer (a) 340.6]
33) Iflog27 =1.431, then the value of log 9 is :-
a) 0.934
b) 0.945
c) 0.954

d) 0.958
[Answer (c) 0.954]

34) The value of log, 16 is :-
1

a) g

b) 4

c) 8

d) 16

[Answer (b) 4]

6 log,,1000

35) Thevalue of ———
3 log,400

IS equal to

a)o
b) 1
c) 2
d) 3

36) Whatis the value o _1; llowin 1_e5xpre55|or31_5:— [Answer (d) 3]
SOg - log + log

d) 14 16
a)0
b) 2
c) 4

e)3
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[Answer (a)
0]

15
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37) Iflog 10125 +log 10 8 = X, then find X is equal to:-
a) %
b) 0.064
c) -3
d) 3
[Answer (d) 3]
38) Value of log 10 is :-
a) 1
b) 0
c) 3
d) None.
[Answer (a) 1]
39) Iflog4=0.6021, then the value of 256 is :-
a) 1.2042
b) 0.2042
c) 0.4084

d) 2.4084
b) 3.0970

40) The value of log 625 —log 25 is :-
a) 25
b) 35
c) 15
d) 50

41) The value of 13.62 x 0.02453 will be
a) 0.3341
b) 0.3785
c) 0.0345
d) None.

42) Givenlog 5 =0.6990, then log 125 will be
a) 2.0970
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[Answer (d) 2.4084]

[Answer (a) 25]

[Answer (a) 0.3341]
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c) 20.970
d) None.

43) Characteristics of .003002 will be [Answer (a) 2.0970]

a) 2

b) 3

c) 2:

d) 3

[Answer (d)3’ ]

44) Mantissa is written :-

a) Before decimal

b) After decimal

¢) With no decimal point

d) None.
[Answer (b) after decimal]

45) Iflog9, +log? =log (a+ b), then :-
a

a)a+b=1
b)a-b=1
c)a=b

d)a?—b2=1
[Answer (a) a+b = 1]

46) if log 2 =0.30103, the number of digits in 254 is :-

a) 18

b) 19

c) 20

d) 21

[Answer (c) 20]

47) Iflog, {log s (log2X)}=1, then X is equal to:-

a)0

b) 12

c) 128

d) 512
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[Answer (d) 512]



48) If log 103456 = 3.5386 then the value of antilog
(2 .5386) is -a) 0.3456
b) 0.03456
c) 0.003456
d) 34.56

[Answer (b)
0.03456]

49) If log 10 X =log 10Y = Z, then the value of X is :-
a) z
1
b) 102
c) YZ
d) 102y
[Answer (b) IOYZ]
50) Iflogioa=p,logiob=q,then whatis log 1o (ap bq) equal
to?
a) P2+qg?
b) P? —qg?
c) P2 g2
d 2
q2
[Answer (a) PZ + g2l

QUESTIONS

1. If P,A,R,N respectively represent the principal, total amount, rate and number of years,
then:

a. A=P(1+R/100)"
b. A=P(1+NP/100)
c. A=N(1+RP/100)
d. A=P(1+NR/100)
Ans: a
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2. An amount of X600 is compound annually at the rate of 5%. The amount to be paid after
3 years is:

2694.57
X550.24
X700.32
X396.75

ANS: a

3. The compound interest on X480 at 16 /3% per annum for 23/, year will be:
a. X260

b. %252

c. 3255

d. 2263.33
Ans: c

4. The compound interest on 5000 for 3 years at 8% for first year, 10% for second year
and 12% for third year, will be:

oo o

a. 31652.80
b. %1560.40
c. 1565.60
d. %1500
Ans: a
5. The compound interest on X540 at 162/3% per annum for 2 year is:
a. X735
b. %180
c. 195
d. X192.50
Ans: c



6. The difference between the simple interest and the compound interest on X600 for 1
year at 10% per annum, reckoned half-yearly is:

a. Nil
%6.50
c. 34.40
d. T1.50
Ans: d

7. The difference between compound interests on X800 for 1 year at 20% per annum when
compounded half-yearly and quarterly, is:

a. Nil
b. %2.50
c. 34.40
d. %6.60

AnNs: c

8. Simple interest on a sum at 121/,% per annum for 2 years is 256. The compound
interest on the same sum at the same rate and for the same period is:

%264
X272

3262.40
%265.80

Ans: b

9. Asum of money doubles itself at compound interest in 15 years. It will become eight

oo oTp

times in:

a. 30years

b. 40years

C. 45years

d. 60years

Ans: ¢
10. The difference between simple interest and compound interest for 2 year at 4% per

annum is X20. The principal amount (in rupees) will be:

12000

d

b. 12500
c. 13000
d

13500
Ans: b

11.If the compound interest of an amount at the rate of 5% per annum for 2 year is X123,
then the principal is:

a. X1000
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b. %1100
c. 1200

d. %1300
Ans: c
12. A sum of 400 would become X441 after 2 years if the rate of compound interest were:
a. 2Y/2%
b. 5%
C. 71/2%
d. 10%
Ans: b

13.%8000 amounts to 10648 in 3 years at compound interest. The rate of interest is:
a. 8%

b. 9%

c. 10%

d. 12%
AnNs: c

14.The difference between the compound interest and the simple interest on a sum of
money lent for 2 years at 10% is X40. The sum is:

a. 38000
b. 26000
c. 35000
d. 4000

Ans: d

15.The difference between compound interest and simpOle interest on 1250 for 2 years at
8% is:
a. X2
b. X4
c. %6
d. %8
Ans: d
16. The compound interest on 2000 for 3 years is X315.25. The rate of interest is:
a. 3%
b. 4%
C. 5%
d. 6%
Ans: c
17.The least number of complete years in which a sum of money put out at 20% compound
interest will be more than doubled is:
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Syears
4years
byears

Qo op

7years

Ans: b

18. At compound interest, if a certain sum of money doubles in n years, then the amount
will be four fold in:
a. 2n’years
b. n?years
C. 4nyears
d. 2n years
Ans: d
19. A saving bank gives interest which compounds annually. Mr. X deposited X100 and
received X121 at the end of second year. Rate of compound interest per annumiis:
a. 10%

b. 20%

c. 10.5%

d. 20.5%
Ans: a

20.The difference between simple and compound interest compounded yearly at the rate
of 4% in a two year period on a certain amount of money is Rs.1. The amount of money
is

3450

a.
b. %575
c. 3600
d. 2625
AnNs:
d

21. A sum of money on compound interest amounts to 9680 in 2 years and to 10648 in 3
years. The rate of interest per annum is:

a. 5%

10%

c. 15%

d. 20%
Ans: b

22.The difference between compound interest and simple interest at the same rate for
%5000 for 2 years is X72. The rate of interest per annum is:
a. 6%
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b. 8%
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c. 10%
d. 12%

Ans: d

23. A sum money amounts to 6690 after 3 years and to 10035 after 6 years oncompound
interest. The sum is:

a. 34400
b. 34460
c. 4520
d. 4445
Ans: b

24. A sum amount to 2916 in 2 years and to 3149.28 in 3 years at compound interest. The
sum is:

a. 1500
b. %2000
c. 32500
d

23000
Ans: c

25.The compound interest on a certain sum of money for 2 years at 10% per annum is
%420. The simple interest on the same sum at the same rate and for the
same time will be:

a. 3350
b. %375
c. 3380
d. %400
AnNS:
d

26. A sum of X 550 was taken as a loan. This is to be paid back in two equal installments. If
the rate of interest be 20% compound annually, then the value of each installment is:
a. %421

b. %396
c. 360
d.

%35
0
Ans
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.C
27.The difference between the compound interest and simple interest for 2 years on asum
of money is X160. If the simple interest be 2880, the rate per cent is:

a. 55/9%

b. 12Y, %
c. 11 1/9%
d. 9%



AnNS: C

28.The difference between simple interest and the compound interest on a certain sum of
money for 3 years at 10% per annum is X15.50. The sum is:

a. 3500

b. 550

c. 600
d. %460
Ans:

a

29.The compound interest on a sum for 2 years is X832 and the simple interest on the same
sum for the same period is X800. The difference between the compound interest and
the simple interest for 3 years will be:

a. 48

b. 66.56

c. 298.56

d. 396.48
Ans: c

30.The difference between simple interest and compound interest on a sum for 2 years at
8%, when the interest is compound annually is X16. If the interest were compounded
half-yearly, the difference in 2 years would be nearly:

a.X16

b. %16.80

c. 321.85

d. 324.64
Ans: d

31. A sum of 12000 deposited at compound interest becomes double after 5 years. After
20 years it will becomes:

a. 3120000
b. 3192000
c. 3124000
d. 296000
ANs: b

32.The difference between compound interest and simple interest at the same rate of
interest R percent per annum on an amount to 15,000 for 2 years is X96. What is the
value of R?
a. 8
b. 10

28
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c. 12
d. 14
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Ans: a
33.There is 60% increase in an amount in 6 years at simple interest. What will be the
compound interest on 12000 after 3 years at the same rate of interest?

a. 2160
b. %3120
c. %3972
d. 6240

Ans: c
34. An automobile Financer claims to be lending money at simple interest, but he includes
the interest every six months for calculating the principal. If he is charging an interest at
the rate of 10%, the effective rate of interest becomes

a. 10.25%
b. 10.5%
c. 10.75%
d. 11%

Ans: a
35. A sum of 210,000 is deposited for 1 year at the rate of interest 10% compounded half-
yearly. What will be the interest at the end of one year?

a. 1000
b. %1025
C
d

%1050
%1100
Ans: b

36. A sum of 8400 was taken as a loan. This is to be paid in two equal installments. Ifthe
rate of interest is 10% per annum, compounded annually, then the value of each
installment is:

a. 34200
b. 34480
c. 34840
d. None of the
above Ans: c

37.The difference between the simple and the compound interest on a certain sum of
money at 4% per annum in 2 years is X10. What is the sum?

a. 5000
b. 6000
c. 6250
d. %7500
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ANS: C



38.The compound interest in 1000 at 10% p.a. for 2 years will be:
a. 2100

b. 21
c. 210
d. 02
Ans
.C
39.If compound interest is computed quarterly, then the time period becomes:
a. Twice of the years.
b. Half of the years.
C. Fourtimes of the years.
d. One-fourth of the years.
Ans: ¢
40.If the simple interest on a sum @ 5%in 3 years is X 150, the compound interest shall be:

a. 160
b. 162

c. 157.62
d. 155
Ans: c

41.1f a sum of money trebles itself in 2 years at compound interest, then it will be 27 times
of itself in x years. This value of x (in years) is:
a. 18

b. 6

c. 12

d. 15

Ans: b

42.%X 2000 in 2 years at 4% p.a. compound interest amount to Rupees:
a. 2160.30

b. 2163.20

c. 2136.20
d. 2361.20
Ans: b

43.If the difference of compound interest and simple interest for 2 years @ 10% p.a.on
certain sum is X 128.20, then principal is:

a. 31282
b. 12820
c. 32464

d. 324640

32
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Ans: b



44. What will be the compound interest of X 10,000 for 9 months at 12% p.a. when interest
is compounded quarterly?

a. 3927
b. 1200
c. 1027
d. X900
Ans:
a
45.The sum of money that amounts to 9261 in 3 years at 5% p.a. compound interestis:
a. 7000
b. 8000
c. 9000
d. 5000
Ans: b

46.The amount of X 1000 @ 4% p.a. compound interest for 3 years is (in Rupees
approximately) :

a. 1125
b. 1215
c. 2115
d. 1251
Ans: a
47.If the amount is X 34,300 time 3 years and rate of compound interest is 162/3%, then
principal is:
a.321600
b.X 2160
c. 26100
d. 326000
Ans: a
48.The amount of X 7500 at compound interest at 4% p.a. for 2 years is:
a.X7800
b. ¥ 8100
c. 8112
d. 38082
Ans: c
49. Compound interest of X400 at 6% p.a. for 2 years is :
a.xX48

b. X¥53.92
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c. 349.44
d. 344944
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ANS: C

50. Compound interest on X400 for 2 years at 5% p.a. is (X) :

a. 40
b. 31
c. 41
d. 51
An
s:
o

SIMPLE INTEREST

. A man borrows Rs.2,000 and pays back after 3 years at 10% simple interest. The

amount paid by the man, is:
(@)Rs.2,400 (c)Rs.3,000
(b)Rs.2,600 (d)Rs.2,750

ANSWER : Option(b)

. How much should a person lend at simple rate of interest of 5% in order to have

Rs.645 at the end of 1 Y% years?
(a)Rs.580 (c)Rs.610

(b)Rs.600 (d)Rs.620

ANSWER : Option(b)

. If the rate of simple interest is 12% p.a., the amount that would fetch interest of

Rs.6,000 per annum is :
(@)Rs.7,200 (c)Rs.50,000
(b)Rs.48,543.69 (d)Rs.72,000

ANSWER : Option(c)
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4. The sum of Rs.600 becomes Rs.900 after 4 years. The rate of simple

interest will be : (2)10% (c)8%
(b)12% (d)12 %%

ANSWER : Option(d)

. The simple interest on Rs.450 at 4% p.a. for 2 %2 years is :

(a)Rs.54 (c)Rs.90
(b)Rs.22.50 (d)Rs.45

ANSWER : Option(d)

. The interest on a sum for 4 years at 5% per annum is Rs.90, the sum is :

(a)Rs.375 (c)Rs.1,500
(b)Rs.450 (d)Rs.1,800

ANSWER : Option(b)

. What sum will amount to Rs.2832 at 6% p.a. rate of simple interest in 3 years?

(a)Rs.2,000 (c)Rs.2,300
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(b)Rs.2,200 (d)Rs.2,400

ANSWER : Option(d)

. Simple interest of Rs.7,500 @8% per 3 years is : (a)Rs.1,200 (c)Rs.2,140

(b)Rs.1,800 (d)Rs.1,860

ANSWER : Option(b)

. Kanak lent Rs.600 to Monika for 2 years and Rs. 150 to Anil for 4 years and

received altogether from both Rs.90 as simple interest. The rate of interest is :
(2)4% (©)10%
(b)5% (d)12%

ANSWER : Option(b)

10 The simple interest on a sum of money at 5% is Rs.48 for 4 years. The

simple intereston the same sum for 5 years at 4% will be : (a)Rs.40 (c)Rs.50
(b)Rs.48 (d)Rs.60



ANSWER : Option(b)

11. Rs.800 amounts to Rs.920 in 3 years at simple interest. If the interest rate
isincreased by 3%,it would amount to :
(a)Rs.1,056 (c)Rs.1,182
(b)Rs.1,112 (d)Rs.992

ANSWER : Option(d)

. Imp e Interest o S. 0 TOr years IS .

12 simple i f Rs.1500 @8% for 3 '
(a)Rs.120 (c)Rs.1,140
(b)Rs.360 (d)Rs.1,860

ANSWER : Option(b)

13. At what rate percent of simple interest a sum would double itself in 20
years ?
()5% (€)12 2%
(0)10% (d)20%

ANSWER : Option(a)



14. At what rate of simple interest a sum of Rs.2,600 yields Rs.1,040
after 5 years ? (a)6% (©)8%
(b)6 2% (d)12 %%

ANSWER : Option(c)

15. ifthe simple interest of Rs.500 for 3 yearsin Rs.75 the rate of simple interest
will be :

(2)5% (©)15%

(b)10% (d25%

ANSWER : Option(a)
16. Simple interest on Rs.300 for 7 years at 14% per annum will be :

(a)Rs.294 (c)Rs.249
(b)Rs.194 (d)Rs.149

ANSWER : Option(a)

17. i simple interest of Rs.1,500 @R% for 3 years is Rs.360, then R will
be :
(a)2 (c)6
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(b)4 (d)8

ANSWER : Option(d)

18 If Rs.64 amount to Rs.19.20 in 2 years, what will Rs.86 amount to in 4 years

at the same rate percent per annum?
(a)Rs.137.60 (C)Rs.114.80

(b)Rs.124.70 (d)Rs.127.40

ANSWER : Option(a)

19 The simple interest at x% for x years will be Rs. x on a sum of :
(@)Rs. x (c)Rs. (100/x)
(b)Rs. 100x (d)Rs. (100/x?)

ANSWER : Option(c)

20 A certain sum at simple interest amounts to Rs.1,040 in 3 years and to
Rs.1,360 in 7 years. Then, the sum is :
(a)Rs.750 (c)Rs.900

(b)Rs.800 (d)None of these
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ANSWER : Option(b)

21. A sum of money amounts to Rs.702 in 2 years and Rs.783 in 3 years.
The rate percent per annum is :

(@)12% (©)14%

(b)13% (d)15%

ANSWER : Option(d)
22 At simple interest, a sum doubles after 20 years. The rate f interest per

annum is : (a)5% (©)12%
(b)10% (d)8%

ANSWER : Option(a)

23 In what time will a sum of money double itself at 6 ¥4% p.a. simple
interest ?

(a) 5 years (c)12 years
(b) 8 years (d)16 years

ANSWER : Option(d)
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24 A sum of money becomes 8/5 of itself in 5 years at a certain rate of
interest. The rate percent per annum is :

(2)5% (©)10%

(b)8% (d)12%

ANSWER : Option(d)

25 The difference between the interests received from two different banks on
Rs.500 for 2 years, is Rs.2.50. The difference between their rates is :

(@)1% (©)2.5%

(b)0.5% (d)0.25%

ANSWER : Option(d)

26 The simple interest on a sum of money is 1/9 of the principal and the
number of years is equal to the rate percent per annum. The rate percent per
annum is :

(a)3 (©)3*
3
(b)1/3 (d)3/10

ANSWER : Option(c)
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. € principa to earn Rs.1, simpie Interest In years 0
27 . The principal Rs.1,500 simple i in 6 @5%
p.a. will be : (a)Rs.4,500 (c)Rs.3,000
(b)Rs.5,000 (d)Rs.5,500

ANSWER : Option(b)
28 The simple interest f Rs.8,000 @ an annual rate of 5% for 3 yearsin :

(a)Rs.1,400 (c)Rs.1,200
(b)Rs.1,600 (d)Rs.1,000

ANSWER : Option(c)

29 Simple interest of Rs.720 at 12%2% per

annum for 31 _ yearsin:

3
(a)Rs.245 (O)Rs.315
(b)Rs.524 (d)Rs.274

ANSWER : Option(c)

30 The simple interest on Rs.2000 for 2'years -

w

at the rate of 3 3% per annu is :
4
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(a)Rs.170 (c)Rs.182
(b)Rs.175 (d)Rs.190

ANSWER : Option(b)

31 If simple interest of Rs. x at 6 %2% per annum for 2 years is Rs.325, then the
value of x is :

(a)Rs.2,350 (c)Rs.2,050

(b)Rs.2,500 (d)Rs.2,305

ANSWER : Option(b)

32 In how many years will a sum of money double itself at, the rate of
10% p.a. ?

(a) 5 years (c)15 years
(b) 10 years (d)20 years
ANSWER : Option(b)

33 Required investment for earning 0f Rs.800

p.m. at 10% p.a. simple interest is : (a)Rs.666.66  (C)Rs.96,000
(b)Rs.1,00,000 (d)Rs.312

ANSWER : Option(c)
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34. Atwhat rate of simple interest a sum of Rs.2,600 yields Rs.1,040
after 5 years ? (a)6% (©)8%
(b)6 2% (d)10%

ANSWER : Option(c)
35 A certain sum of money lent out at 4% p.a. amounts to Rs.896 in 3 years
and Rs.960 in 5 years. The sum is :

(a)Rs.600 (c)Rs.750
(b)Rs.700 (d)Rs.800

ANSWER : Option(d)

36 Rs.300 after 5 years at 5% p.a. simple interest amounts to :
(a)Rs.1,200 (c)Rs.325

(b)Rs.375 (d)Rs.360

ANSWER : Option(b)

37 The simple interest on Rs.1,820 from Oct. 9, 1994 to Dec. 21, 1994 at 7%2%
will be : (a)Rs.22.50 (c)Rs.28.80
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(b)Rs.27.30 (d)Rs.29

ANSWER : Option(a)

38 Two equal amounts of money are deposited in two banks, each at 15% per
annum, for 3%z years and 5 years. If the difference between their interests is Rs.144,
each sum is : (a)Rs.460 (c)Rs.640

(b)Rs.500 (d)Rs.720

ANSWER : Option(c)

39. Due to fall in the rate of interest from 13%

p.a. to 12 2% p.a., a money lender’s yearly income diminishes by Rs.104.
His capital is: (a)Rs.21,400 (c)Rs.22,300
(b)Rs.20,800 (d)Rs.24,000

ANSWER : Option(b)
40 A lent Rs.1,200 to B for 3 years at certain rate of simple interest and Rs.1000

to C for the same time at the same rate. If he gets Rs.50 more from B than from C,
then the rate per centis :
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(2)10* % _ (c)8%% _
3 3

(0)62% _ (d)92% _
3 3

ANSWER : Option(c)

4]. Simple interest on a certain sum at a certain rate is 9/16 of the sum. If the
number representing rate percent and time in years be equal, then time is :

(a) 5! years (c)6* years
2 4

(b) 6t years (d)7* years
2 2

ANSWER : Option(d)

42 A person takes a loan f Rs.200 at 5% simple interest. He returns Rs.100 at
the end of 1 year. In order to clear his dues at the end of 2 years, he would pay :
(a)Rs.100 (c)Rs.110

(b)Rs.105 (d)Rs.115.50

ANSWER : Option(d)
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43 Find the simple interest on Rs.7,000 at 50/3% for 9 months :
(@)Rs.1,075 (c)Rs.875

(b)Rs.975 (d)Rs.775

ANSWER : Option(c)

A4, Find the simple interest on the Rs.2,000 at 25/4% per annum for the period

from 4t Feb 2005 to 181 April 2005
(a)Rs.25 (c)Rs.35
(b)Rs.30 (d)Rs.40

ANSWER : Option(a)
45. There was simple interest of Rs.4,016.25 on a principal amount at the rate of 9%
p.a. in 5 years. Find the principal amount :

(a)Rs.7,925 (c)Rs.7,926
(b)Rs.8,925 (d)Rs.7,925

ANSWER : Option(b)
46 If a sum of money doubles itself in 8 years At simple interest, the rate percent per

annum is :
(@)12% (€)13%

(0)12.5 % (d)13.5%

ANSWER : Option(b)

A7. Asumof money at simple interest amounts to Rs.815 in 3 years and to Rs.854 in
4 years. The sum is :

(a)Rs.650 (c)Rs.698

(b)Rs.690 (d)Rs.700

ANSWER : Option(c)

48 Find the principal on a certain sum of money at 5% per annum for 2 2 years if the

amount
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being Rs.1,120 ?
(a)Rs.1,000 (c)Rs.1,050
(b)Rs.1,100 (d)Rs.1,200

ANSWER : Option(a)

49 What sum of money will produce Rs.70 as simple interest in 4 years at 3 %2%?
(a)Rs.525 (c)Rs.550

(b)Rs.500 (d)Rs.555

ANSWER : Option(b)

50 At what rate percent on simple interest will Rs.750 amount to Rs.900 in 5 years?
(2)5% (€)4%
(b)3%2% (d)5%2%

ANSWER : Option(c)

Unit VvV
MCQ
Choose the correct option of following
Q1 The interest on a sum for 4 years at 5% per annum simple interest is Rs.90, the sum is :
(@) Rs.375 (b) Rs. 450 (c) Rs. 1,500 (d) Rs. 1,800
Q2. Simple interest of Rs.1,500 @ 8% for 3 years:
(d) Rs.120 (b) Rs. 360 (c) Rs. 1,140 (d) Rs. 1,860
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Q3.
Q4
Q5.
Q6
Q7.
Q8.
Q8.

Qo.

Q10.

Q11.
Q12.
Q13
Q14.
Q15.
Q16.
Q17.
Q18.
Q19.
Q20.
Q.21
Q22.

Q23.

Rs.300 after 5 years at 5% p.a. simple interest amounts to:

(@) Rs.1,200 (b) Rs. 375 (c) Rs. 325 (d) Rs. 360

The simple interest on Rs.450 at 4% p.a. for 2% years is:

(@) Rs. 54 (b) Rs.22.50 (c) Rs. 90 (d) Rs.45

What sum will amount to Rs. 2,832 at 6% p.a. rate of simple interest in 3 years:

(@) Rs. 2,000 (b) Rs. 2,200 (c) Rs. 2,300 (d) Rs. 2,400
At what rate percent of simple interest a sum would double itself after 20 years:

(a) 5% (b) 10% (c) 12%2% (d) 20%

A certain sum doubles itself after 8 years on simple interest. What times it will be after 40 years:
(@) 4 Years (b) 5 Years (c) 6 Years (d) 7 Years

The sum of Rs. 600 become Rs.900 after 4 years. The rate of simple interest will be:

(@) 10% (b) 12% (c) 8% (d) 12¥2%

At what rate of simple interest a sum of Rs. 2,600 yield Rs. 1,040 after 5 years:

(a) 6% (b) 6¥2% (c) 8% (d) 10%

A certain sum of money lent outs at 4% p.a. amounts to Rs.896 in 3 years and Rs.960 in 5 years.
The sum is:

(a) Rs.600 (b) Rs.700 (c) Rs. 750 (d) Rs.800
If the simple interest of Rs 500 for 3 years is Rs. 75 the rate of simple interest will be:
(a) 5% (b) 10% (c) 15% (d) 25%
Simple interest on Rs. 300 for 7 years at 14% p.a. will be:

(a) Rs.294 (b) Rs.194 (c) Rs. 249 (d) Rs.149
The principal to earn Rs.1,500 simple interest in 6 years @5% p.a. will be:

(a) Rs.4,500 (b) Rs.5,000 (c) Rs. 3,000 (d) Rs.5,500
The simple interest of Rs. 8,000 @5% p.a. for 3 years is:

(@) Rs.1,400 (b) Rs.1,600 (c) Rs. 1,200 (d) Rs.1,000
Simple interest of Rs.720 at 12%2% p.a. for 3%years is:

(a) Rs.245 (b) Rs.524 (c) Rs. 315 (d) Rs.274
The simple interest on Rs.2,000 for 2'5years at the rate of 3%% p.a. is

(a) Rs.170 (b) Rs.175 (c) Rs. 182 (d) Rs.190

If simple interest of Rs.x at 6%2% per annum for 2 years is Rs.325, then the value of x is:
(@) Rs.2,350 (b) Rs.2,500 (c) Rs.2,050 (d) Rs.2,305
If simple interest of Rs.1,500 @R% for 3 years is Rs.360, then R will be:

(@) 2% (b) 4% (c) 6% (d) 8%

IN how many years will a sum of money double itself at the rate of 10% p.a.:

(@) 5 years (b) 10 years (c) 15years (d) 20 years
Simple interest of Rs. 7,500 @ 8% p.a. for 3 years is:

(@) Rs.1,200 (b) Rs. 1,800 (c) Rs. 2,140 (d) Rs. 1,860
Required investment for earning of Rs.800 p.m. at 10% p.a. simple interest is

(a) Rs. 666.66 (b) Rs. 1,00,000 (c) Rs. 96,000 (d) Rs. 312
Compound interest on Rs. 400 for one year at 10% p.a. will be:

(@) Rs. 84 (b) Rs. 80 (c) Rs. 40 (d) Rs. 42
Compound interest on Rs. 400 for 2 years at 10% p.a. will be:

(a) Rs. 84 (b) Rs. 80 (c) Rs. 89 (d) Rs. 96

The compound interest on Rs. 1,000 at 10% p.a. for 2 years will be:
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Q24.

Q25.

Q26.

Q27.
Q28.

Q29.

Q30.

Q31.
Q32.
Q33.
Q34.

Q35.

Q36

Q37.

Q38.
Q39.
Q40.

Q41.

Q42.

(@) Rs. 2,100 (b) Rs. 21 (c) Rs. 210 (d) Rs. 02
If compound interest is computed quarterly, then the time period becomes:

(a) Twice of the years (b) Half of the years

(c) Four times of the year (d) One-fourth of the years

If the simple interest on a sum @5% in 3 years is Rs. 150, the compound interest shall be:
(@) Rs. 160 (b) Rs. 162 (c) Rs. 157.62 (d) Rs. 155

If compound interest is computed half yearly, then the time period becomes:

(a) Half of the years (b) Twice of the years

(c) One-fourth of the years (d) Four times of the year

Rs. 2,000 in 2 years at 4% p.a. compound interest amount to :

(a) Rs.2,160.30 (b) Rs.2,163.20 (c) Rs. 2,136.20 (d) Rs. 2,361.20
The compound interest on Rs.1,600 for 3 years at 5% per annum is:

(a) Rs. 252.20 (b) Rs. 272.20 (c) Rs. 292.20 (d) Rs. 312.20

If the difference of compound interest and simple interest for 2 years @10% p.a. on certain sum is
Rs.128.20. then principal is:

(@) Rs. 1,282 (b) Rs. 12,820 (c) Rs. 2,464 (d) Rs. 24,640

What will be the compound interest of Rs. 10,000 for 9 months at 12% per annum. When interest
is compounded quarterly:

2b(a) Rs. 927 (b) Rs.1,200 (c) Rs. 1,027 (d) Rs. 900
The sum of money that amounts to Rs. 9,261 in 3 years at 5% p.a. compound interest is:
(@) Rs. 7,000 (b) Rs. 8,000 (c) Rs. 9,000 (d) Rs. 5,000
The amount of Rs.1,000 @ 4% p.a. compound interest for 3 years is:

(a) Rs. 1,125 (b) Rs. 1,215 (c) Rs. 2,115 (d) Rs. 1,251
If amount is Rs. 34,300, time 3 years and rate of compound interest is 16%%, then principal is
(a) Rs. 21,600 (b) Rs. 2,160 (c) Rs. 26,100 (d) Rs. 26,000
The amount of Rs. 7,500 at compound interest at 4% p.a. for 2 years is:

(@) Rs. 7,800 (b) Rs. 8,100 (c) Rs. 8,112 (d) Rs. 8,082
Compound interest of Rs.400 at 6% p.a. for 2 years is:

(a) Rs. 48 (b) Rs. 53.92 (c) Rs. 49.44 (d) Rs. 449.44
Compound interest on Rs. 400 for 2 years at 5% p.a. is:

(@) Rs. 40 (b) Rs. 31 (c) Rs. 41 (d) Rs. 51

Compound interest of Rs. 8,000 for 2 years is Rs. 988.80. The rate of compound interest p.a. will
be:

(a) 6.18% (b) 5.5% (c) 7.05% (d) 6%

In what time will Rs. 1,100 amount to Rs.2,794 @ 6.6% compound interest per annum

() 7 Years (b) 8 Years (c) 12 Years (d) 16 Years

In a suitcase of Rs. 240 is sold for Rs.180, loss percentage is.

(a) 25% (b) 20% (c) 33.33% (d) None of these
To sell an article for Rs. 90 by purchasing it for Rs. 100 means.

(a) 10% profit (b) 10% loss (c) 11.11% profit (d) 11.11% loss

The selling price of a 4/5"" of a number of books is equal to the cost price of the whole. The profit
percentage is.

(a) 25% (b) 20% (c) 40% (d) 15%
Selling price equal to
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profit
Q43.

Q44.
Q45.
Q46.

Q47.

Q48.

Q49.

Q.50.

Q51.

Q52.

Q53.
Q54.
Q55.
Q56.
Q57.
Q58.
Q59.

Q60.

(a) Cost price + loss % (b) Cost price + loss  (c) Cost price + profit % (d) Cost price +

A man sold a radio for Rs.660, gaining 20%, the purchase price was.

(a) Rs.550 (b) Rs.505 (c) Rs. 440 (d) Rs.404

A man sold an article for Rs. 88, gaining 1/10 of is cost. The cost price of the article is.

(@) Rs. 85 (b) Rs.84 (c) Rs. 80 (d) Rs. 78

If the selling price of an article is 4/3 times of its cost price, the profit percent is.

(a) 33.33% (b) 255 (c) 20.67% (d) 33%

If an article is sold at 5% and 7.5% profit, then difference in selling price is Rs.1.25. Cost price is.
(a) Rs. 50 (b) Rs. 150 (c) Rs. 25 (d) Rs. 125

A trader sells two cycles for Rs. 1,000 each. On this deal he gains 15% on the first cycle and loses
15% on the other. The total gain or loss percent is.

(@) 2.35% (b) 4.6% (c) 1.5% (d) 2.25%

A General Manager gets commission of 20% on the annual net profit of the business. If the profit
of the business stands at Rs. 2,450, his commission is.

(a) Rs. 408 (b) Rs. 203 (c) Rs. 308 (d) Rs. 480

A shopkeeper fixes the price of his goods 25% above the purchase price and allows a commission
12%:% to the agent. His profit percentage is.

(@) 9.375% (b) 3.375% (c) 8.33% (d) 3.125%

Manohar quotes 30% more than the cost price on his goods and allows a commission of 10% to
the agent. His gain percent is.

(@) 4% (b) 8% (c) 13% (d) 17%

The selling price of a 4/5th of a no. of books is equal to the cost price of the whole. the profit % is

(@) 25% (b) 20% (c) 40% (d) 15%
50- A certain sum of money lend out at 4% p.a. amounts to Rs896 in 3 years and Rs 960 in 5
years . The sum is (in Rs):

(a) 600 (b) 700 (c) 750 (d) 800

At what rate of simple interest a sum of Rs 2,600 yields Rs1,040 after 5 years ?

(@) 6% (b) 6.5% (c) 8% (d) 10%

The sum of Rs600 becomes Rs 900 after 4 years . The rate of simple interest will be :

(@) 10% (b) 12% (c) 8% (d) 12.5%
At what rate percent of simple interest a sum would double itself after 20 years ?

(@) 5% (b) 10% (c) 12.5% (d) 20%

What sum will amount to Rs 2,832 at 6% p.a. rate of simple interest in 3 years ?

(@) Rs.2,000 (b) Rs.2,200 (c) Rs.2,300 (d) Rs.2,400

The simple interest on Rs 450 at 4% p.a. for 2.5 years is :

(a) Rs.54 (b) Rs.22.50 (c) Rs.90 (d) Rs.45

Rs300 after 5 years a 5% p.a. simple interest amount to :

(@) Rs.1,200 (b) Rs.365 (c) Rs.325 (d) Rs.360

The interest on a sum for four years at 5% per annum is Rs 90 ,the sum is :

(2)Rs.375 (b)Rs.450 (c)Rs.1,140 (d) Rs.1,860

The formula of simple interest is :

(@) 1=P*R*T/100 (b) I=P*R*100/T (c) I=R*100/P*T (d) None of these
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Q61.
Q62.

Q63.

Q64.

Q65.
Q66.
Q67.
Q68.
Q69.
Q70.
Q71.
Q72.
Q73.
Q74.
Q75.

Q76.

Q77.
Q78.

Q79.

Q80.

Q8L.

40- If a seller gains 25 paise on Rs 2 then his percentage of profit is :

(@) 1/8% (b) 3/8% (c)8% (d) 12.5%
If the profit on cost price of 25%then the profit on selling price is :
(@) 25% (b) 20% (c) 30% (d) 16.67%

A trader sells two cycles for Rs 1000 each. On this deal the gains 15% on the first cycle and loses
15% on the order . the total gain or loss % is :

(@) 2.35% (b) 4.6% (c) 1.5% (d) 2.25%

A general manager gets commission of 20% on the annual net profit of the business . if the profit
of the business stands at Rs 2,450 his commission is (approximately in integral rupees)

(a) 408 (b) 203 (c) 308 (d) 480
If an article is sold at 5% and 7.5% profit, then difference is selling price Rs 1.25. cost price is :
(@) Rs.50 (b) Rs.150 (c)Rs.25 (d) Rs.125
A man sold an article for Rs 88, 1/10 of his cost . the cost price of the article is:
(@) Rs.85 (b) Rs.84 (c) Rs.80 (d) Rs.78
A man sold a radio for Rs660, gaining 20% , the purchase price was :
(@) Rs.550 (b) Rs.505 (c) Rs.440 (d) Rs.404

Selling price is equal to :
(@) cost price + loss % (b) cost price + loss (c) cost price + profit %(d) cost price + profit
If the simple interest of Rs 500 for 3 years in Rs 75 the rate of simple interest will be :

(@) 5% (b) 10% (c) 15% (d) 25%
52- Simple interest on Rs300 for 7 years at 14% p.a. will be :
(a)Rs.294 (b) Rs.194 (c)Rs.249 (d) Rs.149
The principal who earn Rs1500 simple interest in 6 years at 5% per annum will be:
(@) Rs. 4,500 (b) Rs. 5,000 (c) Rs. 3,000 (d) Rs. 5,500
54. The simple interest of 8000 at an annual rate of 5% for 3 years is:
(@) Rs. 1,400 (b) Rs. 1,600 (c) Rs. 1,200 (d) Rs. 1,000
If simple interest of Rs x at 6.5% per annum for 2 years is Rs325, then the value of x is:
(@) Rs.2,350 (b) Rs.2,500 (c) Rs.2,050 (d) Rs. 2,305
If simple interest of Rs1500 at R% for 3 years is Rs 360 then R will be:
@ 2 (b) 4 (c)6 (d) 8
In how many years will a sum of money double itself a 10% p.a. ?
(@) 5years (b) 10 years (c) 15 years (d) 20 years
Simple interest of Rs7500 at 8% per 3 years is:
(@) 1,200 (b) 1,800 (c) 2,140 (d) 1,680
Required investment for earning of Rs800 p.m. at 10% p.a. simple interest is Rs:
(a) 666.66 (b) 1,00,000 (c) 96,000 (d) 3,000
Simple interest of Rs720 at 12.5% p.a. for 3.5 years is:
(@) Rs.245 (b)Rs.524 (c) Rs.315 (d) Rs. 274
Compound interest on Rs 400 for 1 year at 10%p.a. will be:
(@) Rs.84 (b) Rs.80 (c) Rs.40 (d) Rs.42

Compound interest Rs 1000 at 10% p.a. for 2 years will be;

() Rs 2100 (b) Rs 210 (c) Rs 220 (d) Rs. 21
If compound interst is computed quarterly, then the time period becomes:
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Q82.

Q83.

Q84.

Q8S.

Q86.
Q87.
Q88.
Q89.

Q90.

QL.

Q92.

(a) twice of years (b) half of the years (c) one fourth of the years (d)

If compound interest is compounded half yearly, then the time period becomed:

(a) half of the years (b) twice of the years

(c) one fourth of the years (d) four times of the years

If the difference of compound interest and simple interest for two years at 10% p.a. on certain
sum is Rs. 128.20, then principal is:

(@) Rs 1,282 (b) Rs 12,820 (c) Rs 2,464 (d) Rs 24,640

What will be the compound interest of Rs 10,000 for 9 months at 12% p.a. , when interest is
compounded quarterly?

() Rs 927 (b) . Rs 1,200 (c) Rs 1,027 (d) Rs 900

The sum of money that amounts to Rs9,261 in 3 years at 5% p.a. compound interest is:

(a) Rs7,000 (b) Rs 8,000 (c) Rs 9,000 (d) Rs 5,000

The amount of Rs1000 at the rate 4% p.a. compound interest for 3 years is :

(@ Rs1,125 (b) Rs 1,215 (c) Rs 2,115 (d) Rs 1,215

The amount of Rs 7500 at compound interest at 4% p.a. for 2 years is :

(a) Rs 7,800 (b) Rs 8,100 (c) Rs 8,112 (d) Rs 8,082

The compound interest on Rs2000 for x years at 10% p.a. is Rs 662, the value of x (in years):
(@ 1 (b) 2 (c)3 (d) 4

Compound interest of Rs400 at 6% p.a. for 2 yaers is ;

(a) Rs48 (b) Rs 53.92 (c) Rs 49.44 (d) Rs 449.44

If nominal rate of interest is 4% p.a. and interest is compounded half yearly, then the effective
rate of interest p.a. is;

(@) 4.1% (b) 4.04% (c) 4.4% (d) 4.5%
Compound interest on Rs400 for 2 years at 5% p.a. is:

(@) RS 40 (b) Rs 31 (c) Rs4l (d) Rs 51
In what time (years ) will Rs 1100 amount to Rs2794 at 6.6% compound interest p.a. ?

(@ 7 (b) 8 (c) 12 (d) 16



